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art A: Grammar and Vocabu al;y )
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the

sentence. Then mark your answer sheet.

76-

77-

78-

79-

80-

81-

82-

83-

84-

85-

86-

87-

You, as a non-native English speaker, should learn --—- you can if you want to be fluent in this language.
1) as many English words as 2) many English words as much as

3) more English words as 4) English words as many as

—————————— call my mom to let her know when school will be over, or ---------- wait until school’s out
and call her then?

1) May I —Ishould 2)MayI-shouldl 3)Canl-Imay 4) Can I —may I

A: Oh my gosh! You have some bruises on your face. ---------- ?

B: Richard ---------- me.

1) What has happened — has hit 2) What happened — has hit

3) What has happened — hit 4) What happened — hit

As defined in famous dictionaries, tourism ---------- for entertainment, health, sport or learning
about the culture of a nation.

1) along with travel  2) and travel are 3) 1s traveling 4) that 1s traveling

News ---------- that a number of groups offered plans to add a listening section to the university
entrance exam. Such a plan is good but unlikely to be implemented in the near future.

1) went out 2) got around 3) made up 4) ended in

Albert Einstein once said that the ----—---—-- of nature does not become smaller because one
cannot measure it by the standards of human moral and human aims.

1) notice 2) style 3) stage 4) wonder

He had seen his future wife Nancy when she was only 16 and decided ---------- that she was the
only girl for him.

1) at first 2) in fact 3) of course 4) at once

Amy: Who was president first, John Adams or Thomas Jefferson?

Betty: Thomas Jefferson, I think.

Amy: I think it was John Adams.

Betty: Fine, I'll check the Internet. ... Oh. Okay, ---------- , it was John Adams. He was the second
president, after George Washington.

1) believe me 2) sounds correct 3) you win 4) I can make it

Our boss has guaranteed us 200 million toman for two projects over the next seven years. If
certain ---------—- are met, the payment could rise to 3 million toman per month for each engineer.
1) proportions 2) conditions 3) obligations 4) productions

Perhaps we cannot ---------- this world from being a world in which children suffer. But we can
reduce the number of children who suffer physically and emotionally.

1) transport 2) appreciate 3) recognize 4) prevent

As I walked through the jungle today, I paused to ---------- on many things, including decisions I
have made in my life, decisions that that were important, not only to me, but to many others in
my life — family members, colleagues, friends, even acquaintances.

1) reflect 2) practice 3) depend 4) imagine

There’s nothing, ~--------- nothing, more important than your family. They are God’s gift to you,
as you are to them.

o - - - . - ~ dd



Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice (1 3), or (4) best fits each space. Then mark your answer sheet.

Long-term travel is one of the most exciting, interesting, and educational experiences a person

can have. It makes you more well-adjusted, open-minded, independent, and (88) ---------- . But
spending extended time (89) ---------- is not all rainbows and unicorns (but it (90) ----------- is!).
Bear in mind that during the trip, anything can happen and probably (91) ---------- . Save yourself
some stress and don’t expect everything to happen (92) ---------- . Remain flexible and open, and
let the experiences in.

88- 1) welcome 2) emotional 3) confident 4) uncertain

89- 1) in the road 2) in the roads 3) on the road 4) on the roads

90- 1) hardly 2) mostly 3) simply 4) lately

91- 1) will 2) would 3) must 4) could

92- 1) it exactly as vou planned 2) exactly as you planned it

3) as exactly you planned it 4) as exactly as you planned it

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

Passagel:

Mental and physical health professionals may consider referring clients and patients to a music
therapist for a number of reasons. It seems a particularly good choice for the social worker who
is coordinating a client’s case. Music therapists use music to establish a relationship with the
patient and to improve the patient’s health, using highly structured musical interactions. Patients
and therapists may sing, play instruments, dance compose, or simply listen to music.

The course of training for music theraplsts 1s comprehensive. In addition to formal musical
and therapy training, music therapists are taught to discern what kinds of interventions will be
most useful for each individual patient. Because each patient is different and has different goals,
the music therapist must be able to understand the patient’s situation and choose the music and
activities that will do the most toward helping the patient achieve his or her goals. The referring
social worker can help this process by clearly communicating each client’s history.

Although patients may develop their musical skills, that is not the main goal of music therapy.
Any client who needs particular work on communication or on academic, emotional, and social
skills, and who is not responding to traditional therapy, is an excellent candidate for music therapy.

93- Which of the following best organizes the main topics addressed in this passage?

94.

1) I. The role of music therapy in social work
II. Locating a music therapist
III. Referring patients to music therapists
2) 1. Music therapy and social work
II. Training for music therapists
III. Skills addressed by music therapy
3) I. Using music in therapy
IT. A typical music-therapy intervention
ITII. When to recommend music therapy for sociopaths
4) 1. How to choose a music therapist
II. When to refer to a music therapist
III. Who benefits the most from music therapy
According to information presented in the passage, music therapy can be recommended for
social work clients who ---------- .
1) need to learn how to deal with difficult situations from their past
2) were children when both of their parents died
3) need to find long-lasting solutions for family issues



95-  Which of the following inferences can be drawn from the passage? -

1) Music therapy can succeed where traditional therapies have failed.

2) Music therapy is a relatively new field.

3) Music therapy is particularly beneficial for young children.

4) Music therapy is only appropriate in a limited number of circumstances.

96-  What is the paragraph immediately following this passage most likely to discuss?

1) Examples of individual cases in which music therapy has been successful
2) People’s opinions about the practicality of music therapy

3) Some common weaknesses in the performance of music therapists

4) Types of music which are best suited for use in music therapy

Passage2:

Prior to the invention of the printing press, it was very difficult to print a book. You had to carve
the letters into wood, stone, or metal. Next, you had to apply ink. Then, you could stamp the
image onto paper. To print the next page, you had to do it all over again. So, books were rare.
[A] The finished product was different, too. [B] People made the page look nice to make it worth
all of the effort. [C] There were many designs and pictures on the earliest printed material. [D]

In 1450, there was a major breakthrough. Johann Gutenberg invented a printing press. This
might be the most important invention to date. Its primary purpose was to make printing cheap. It
did this through the use of movable type. Separate blocks were created for each letter. The letters
could be easily arranged. Printing became cheaper. Books could be purchased in order to acquire
information. This opened up the world of science, arts, and religion to the average consumer.

Since then, printing has become cheaper and easier. In the nineteenth century, the “linotype” was
invented. You didn't h he letters by hand. Y 1d t them. It
was like a typewriter. |

The last century saw many advances in printing technology. Computers are popular multi-
media devices where users can store their music and video collections on their hard drives. They
are now also the primary method of creating text. It is easy to enter text into your computer.
Then you can send it to your printer. Today's printers are less bulky, and more portable, than the
old printing presses. In seconds, you have a printed page. Digital presses are being used for very

large printing jobs.

97-  The letters [A], [B], [C] and [D] in paragraph 1 indicate where the following sentence can be

added. Where would the sentence best fit?
“That made it expensive.”

1) [A] 2) [B] 3)[C] 4) [D]

98- The word “it” in paragraph 2 refers to ——-=---—-- .

1) the computer 2) the keys 3) the text 4) the printing press

99-  According to the passage. which of the following was NOT mentioned as part of the impact of

Gutenberg’s printing press?

1) Printing became cheaper.

2) It opened up the world of science, arts, and religion to the average consumer.
3) Printed work stopped featuring decorations.

4) More people could acquire information.

100- Which of the following best expresses the essential information in the highlighted sentence?

T t h the meaning in important ways or leave out essential information.

1) The printing machine required fewer operators.

2) Fewer printing machines were needed to print large works.
3) Having fewer people working saved money in printing.

4) This created demand for unskilled workers.
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76- In the cupboard, there are some ............... tea cups used for special occasions.

1) small beautiful Chinese white 2) beautiful small Chinese white

3) beautiful small white Chinese 4) Chinese beautiful white nice
77- The lecture given by the professor was ............... one that attracted us all.

1) interesting 2) interested 3) an interesting 4) an interested
78- There's very ........eueeenn. petrol in the car. | should buy ............... when | go out.

1) few — some 2) little — some 3) much — much 4) many — much
79- | haven't been to the dentist in 4 years. In other words, it .................

1) was 4 years since | last went to the dentist

2) is 4 years since | last went to the dentist

3) was 4 years ago when I've last gone to the dentist
4) is 4 years now when I’ve last gone to the dentist

80- This product is available only through online shopping, so there may be an ............... cost for shipping
rely on the method of delivery.

3) dddiviomizble 4) Qretradebde 81- Happiness doesn't

.................................................. any external conditions. It is governed by our mental attitude.
1) keep off 2) depend on 3) give up 4) put out

82- This extreme drought is not ............... to this region; the whole country is experiencing drought
severe enough to have a significant effect on crop production.
1) unique 2) frequent 3) former 4) referred

83- | think we should put as much ............... on preventing disease as we do on curing it.
1) increase 2) belief 3) moment 4) emphasis

84- Passengers have to switch their phones off or put them on airplane mode because aircrafts ..............
the use of phones, tablets and e-readers, as transmission signals could be disrupted.
1) identify 2) forbid 3) disable 4) prevent

85- Most stars are not born in isolation but .............. in groups of several thousand to tens of thousands,
all of which come from the same parent cloud of gas.
1) however 2) besides 3) instead 4) nearly

86- Biometric identification ............... both physiological identifiers, like fingerprints, and behavioral
identifier like signatures.
1) affects 2) solves 3) seems 4) includes

87- The chemicals released into our blood can ............... different changes in our body, physically and
mentally.
1) attend 2) create 3) gain 4) protect
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mm Cloze Test

Millions of people are using cell phones today. There is no doubt that hand cell phones have made
our lives easier by bringing the world on our fingertips. In many places it is actually ...(88)... unusual
not to use one. Mobile phones are very popular especially ...(89)... the young generation. They find
that the phones are more than a means of communication— They are a lifestyle. The explosion around
the world in mobile phone use has some health professionals ...(90)..... Some medical studies show
changes in the brain cells of some people who use mobile phones. Fears have been raised over the
role of mobile phones in brain cancer after new researches showed that numbers of brain tumor
patients ...(91)... in the last two decades. With such increases it is ...(92)... that we are in the front-
edge of a brain cancer tsunami.

88- 1) appeared 2) considered 3) appreciated 4) contained
89- 1) against 2) between 3) among 4) through

90- 1) worried 2) well known 3) endangered 4) certain

91- 1) doubles 2) is doubling 3) has doubled 4) have doubled
92- 1) hoped 2) noticed 3) measured 4) predicted

mm Reading Comprehension |

When your parents were young, people could buy cigarettes and smoke pretty much anywhere
even in hospitals! Ads for cigarettes were all over the place. Today we're more aware about how bad
smoking is for our health. Smoking is forbidden in almost all public places and cigarette companies are
no longer allowed to advertise on TV, radio, and in many magazines which have especially strong
effects on the young.

Nowadays almost everyone knows that smoking causes cancer, emphysema, and heart disease;
that it can shorten your life by 10 years or more; People who smoke can develop skin problems like
psoriasis (a type of rash). Also, they have an increased risk of pneumonia. Many of these diseases limit
a person's ability to be normally active, and they can be deadly. In the United States, smoking is
responsible for about 1 out of 5 deaths. This habit can cost a smoker thousands of dollars a year and
his life. So how come people are still lighting up? The answer, in a word, is addiction.

Smoking is a hard habit to break because tobacco contains nicotine, which is highly addictive. Like
heroin or other addictive drugs, the body and mind quickly become so used to the nicotine in
cigarettes that a person needs to have it just to feel normal.

People start smoking for a variety of different reasons. Some think it looks cool. Others start
because their family members or friends smoke. Statistics show that about 9 out of 10 tobacco users
start before they're 18 years old. Most adults who started smoking in their teens never expected to
become addicted. That's why people say it's just so much easier to not start smoking at all.

93- With which of the following statements is the author more likely NOT to agree?

1) Once you start smoking, it's harder to stop.

2) Most young smokers become adult smokers.

3) Habit is the reason why it is difficult for smokers to quit.

4) Smoking is a preventable cause of 20% of deaths in the US.

94- The passage provides enough information to answer which of the following questions?

1) Why do young adults start smoking?

2) Does everyone who smokes get cancer?

3) What percent of smokers die from smoking?

4) What happens to your body after you stop smoking?
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95- Marketing of tobacco products is forbidden on the media to ................

1) reduce the social influences 2) increase consumption of tobacco

3) decrease the risk for health problems 4) protect non-smokers from exposure
96- Why do people say it is easier to never start smoking?

1) Smoking can cost a smoker his money and life.

2) The nicotine in the cigarette is highly addictive.

3) Young adults are more likely to become addicted.

4) Quitting smoking does not lower the risk of getting and dying from cancer

mm Reading Comprehension Il

A cold is the effect of a fight between viruses and the lining of the nose. After the cold viruses are
breathed in, they multiply. It takes a little time before there are enough viruses to attack the tissues
of the nose. This time usually lasts about two days. Although the infection makes a person feel like “a
cold is coming on”, he is not actually sick. However, this is the usual time for infecting other people.
The next period is the actual attack by the viruses on the lining of the nose. This is the time of a
“runny nose”. The inflammation or reddening of the nose is a sign that the viruses are being fought by
cells called phagocytes.
Phagocytes are the bodyguards of the body. They destroy foreign matter, such as viruses, that gets
into the blood and tissues. If the phagocytes are unable to destroy the viruses in a day or two, the
cold becomes worse.
The secretions from the nose become less liquid. Secretions may also drip toward the back of the
mouth. This causes coughing. Secretions may also block the sinuses, which results in a “stuffed-up”
feeling. Usually, the cold “runs its course” and the natural resistance of the body provides a cure.
97- Which title best describes the main idea of this passage?

1) What is a cold? 2) What are viruses?  3) Who catches a cold? 4) What are phagocytes?
98- When is most common time to infect other people with a cold?

1) When the infected person has a “runny nose”.

2) When the infected person feels “a cold is coming on”.

3) When the phagocytes are fighting the viruses.

4) When the secretions from the nose are heavy.
99- What do the underlined words in the last sentence mean in this passage?

1) The body overcomes the cold without medicine.

2) The body can never easily provide a cure.
3) The body isn’t attacked by viruses again.
4) The body can only resist cold viruses.
100- What does the pronoun “this” in the last paragraph refer to?
1) Getting the viruses into the blood and tissues
2) Destroying of the viruses by phagocytes
3) Dripping of the secretions toward the back of the mouth
4) Blocking the sinuses by the secretions
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76- Drought and war ............. the danger of food shortages for up to 24 million African people during
the last 10 years.
1) raised 2) would raise 3) have raised 4) were raising

77- Being in this conference as a lecturer was probably ........... experience professionally I had ever
had at that time.
1) as stressful as 2) more stressful 3) the most stressful ~ 4) the most stressful of
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78- Leaders are made, they are not born. They are made by hard effort, which isthe price which all of
US oo to achieve any goal that isworthwhile.

1) could pay 2) must pay 3) should be paid 4) were going to pay

79- Wewill never havefriendsif we................ to find them without fault.
1) expect 2) expected 3) had to expect 4) to expect

80- Because of the ............... of duties and levels of responsibility, their educational backgrounds and
experience vary considerably.
1) ability 2) society 3) diversity 4) nationality

81- Your identity is mostly formed by your friends and family: they act like a mirror, ............... your
image of your self back to you.
1) weaving 2) skimming 3) publishing 4) reflecting

82- Maybe they do need more time to deliver on better public services, but clearly the country is now
......................................................................................................................................... for improvements.

1) emphatic 2) impatient 3) former 4) impossible

83- Thewhole world isin constant motion. The earth moves, the clouds move, the waves move and we
too must move. Move and reach tOthe ..ot of your choice.
1) comparison 2) addiction 3) schedule 4) destination

84- It could take up to ten secondsto ............... the signal every time you change the channel.
1) retire 2) describe 3) attend 4) unscramble

85- The ........... of children passing Ordinary and Advanced level examinations is positively
correlated with social class.
1) function 2) introduction 3) proportion 4) obligation

86- College students who ............... to see the film in the initial days were a bit dissatisfied to watch
their favoriteheroin aseriousrole.
1) rushed 2) recited 3) related 4) appreciated

87- TheiPod isthe only MP3 player ............ designed for Mac use, though a PC version is available.
1) physically 2) additionally 3) particularly 4) medicaly

wm Cloze Test

Carpetswoven in towns and regional centerslike Tabriz, Kerman, Mashhad, Kashan, | sfahan,
Nain and Qom are characterized by their ...(88)... weaving techniques and use of high-quality
materials, colorsand ...(89)................ Town manufactorieslike those of Tabriz ...(90)... an important
historical role in reviving the tradition of carpet weaving after periods of decline. Rugs woven by
the villages and various tribes of Iran are distinguished by their fine wool, bright and complicated
colors, and specific, traditional patterns. Nomadic and small village weavers ...(91)... more coar se
designs, which are considered as the most original and traditional rugs of Persia, as opposed to the
artistic, pre-planned designs of the ...(92)... wor kplaces.

88- 1) hospitable 2) predictive 3) specific 4) energetic
89- 1) patterns 2) situations 3) hosts 4) recreations
90- 1) has played 2) played 3) plays 4) have played

91- 1) produce rugs often with bolder and sometime
2) often produce rugs with bolder and sometimes
3) produce often rugs with bolder and sometimes
4) often produce rugs with bolder and sometime
92- 1) large as 2) largest 3) larger 4) larger than
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mm Reading Comprehension |

Are some people born clever and others born stupid? Or is intelligence developed by our
environment and our experience? Strangely enough, the answer to both of these questionsisyes. In
some degree, our intelligence is given to us at birth, and no education can make a talent out of a
child born with low intelligence. On the other hand, a child who livesin a boring environment will
develop his intelligence less than one who livesin rich environment. This point of view is now held
by most experts.

It is easy to show that intelligence is something that we are born with. The closer the blood
relationship between two people, the closer they are likely to be in intelligence. If we take two
stranger s by chance from the population, it ssemsthat their degree of intelligence will be completely
different. If, on the other hand, we compar e two twins, they will very likely be asintelligent as each
other. Relations like brothers and sisters, parents and children, usually have similar intelligence,
and this clearly suggeststhat intelligence depends on birth.

Now imagine that we take two twins and put them in different environments. We might send
one, for example, to a university and the other to a factory separately where the work isboring. We
would soon find differences in intelligence developing, and this shows that environment as well as
birth playsan important role.

93- Which of the following sentences BEST shows the main idea of the passage?
1) The differences between people on intelligence tests are definitely the result of genetic differences.
2) The limits of a person’s intelligence are fixed at birth, whether or not he reaches those limits will
depend on his environment.
3) People who live in close contact with each other, but who are not related at all, are not likely to
have similar degrees of intelligence.
4) Both genetics and the environment play arole in determining intelligence, but the former plays a
more important part than the latter.
94- The underlined word “ r2iglenenoaisagr aph 1 is cRjsebedn meaning to ......4).praductive.............cco.....e.
95- According to the passage, if twins have differencesin intelligence, the reason isprobably .................

1) the role of the environment 2) therole that birth order plays

3) the underlying health conditions 4) the strong influence of their genes
96- Thewriter of the passagetriesto prove hismain point by .................

1) reporting the findings of a study 2) providing the reader with examples

3) saying how each person isuniquely talented 4) describing different cases studied throughout the years

mm Reading Comprehension ||

Every hour spent in watching TV, DVDs and videos as an adult reduces lifespan by almost 22
minutes, a study suggests. And viewing TV for an average of six hoursa day can cut short your life by
five years. The research shows that an inactive lifestyle is as bad for health as smoking and obesity,
because of the danger s caused by inactivity and the greater opportunitiesit offersfor unhealthy eating.

In arecent study, data about the TV viewing habits and physical health of 11,000 Australians aged
25 and over was analyzed. The researchers said, “Although we used Audralian data, the effects in
other industrialized and developing countries are likely to be similar, considering the large amounts of
time spent watching TV and smilarities in disease patterns.” In the United Kingdom, the average
amount of time spent watching TV isfour hoursaday, compared with five hoursin the United States.

A separate study suggested therisk of developing diabetes and heart disease, or dying early, rises by
as much as 20 percent after just two hoursaday in front of the box. England’s Chief Medical Officer,
Sally Davies, said, “ Physical activity offers huge benefits and these studies back what we already know
- that an inactive lifestyle carries additional risks. We hope these studies will help more people realize
how important regular physical activity isand that there are many waysto get exercise.”
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97- We can learn from the first paragraph that .................

1) the more you watch TV, the shorter you live

2) watching TV harms children more than adults

3) watching TV does greater harm to health than smoking and obesity

4) if an adult watches TV for sixty minutes every day, he will probably die five years earlier
98- Which of the following statements can be concluded from the passage?

1) The findings of the Australian experiment can be generalized for other countries.

2) More research is needed to find out if watching DVDs and videos shortens lifespan.  3)
People in developed countries spend more time watching TV than they did in the past. ~ 4) Patients
with diabetes and heart disease are 20 percent more likely to die as a result of inactivity. 99- The word
“back” in paragraph 3 is closest in meaning to

1) change 2) deny 3) define 4) support
100- The quotation from England’s Chief Medical Officer mentioned in the last paragraph .................

1) provides a specific example

2) provides a summary of the whole passage

3) further supports the main theme of the passage

4) changes the focus of the discussion presented in the previous paragraphs
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PART A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases, marked (1), (2), (3), and (4). Choose the one word or Phrase that best completes the
sentence. Then mark your answer sheet. :

76- I can’t remember what Mr. Brown said yesterday about our homework. I ............ properly because
Charlotte ............ to me at the same time. '
1) didn’t listen / wasn’t talking 2) didn’t listen / was talking
3) wasn’t listening / has talked 4) was listening / was talking
~ 77- A: “A lot of people have read the book, you know.”
B: “Yes, that’s true — but even ............ have seen the film.”
1) more than people 2) more people than 3) more people 4) most people
78- Many people think that because dinosaurs died out so many millions of years g0, WE ....vveenee .
1) may never know what really happened to them
2) should not know what really has happened to themselves
3) might never know what happened to themselves really
4) must never know which really happened to them
79- A: “I’m going to meet some friends at the café across the street this evening. Would you like to come
along?”
B: “No thanks! My brother is coming to town, and I ............ c
1) am going to pick him up from the airport in 7 o0’clock
2) have picked up him from the airport at 7 o’clock
3) am picking up him from the airport in 7 o’clock
4) will pick him up from the airport at 7 o’clock

80- There are thousands of animals and plants ............ today that are no different from the way they
appear in fossil records.
1) regular 2) actual 3) alive 4) natural
81- The lack of electricity, ............ , food and water will take many more lives in the weeks following the
earthquake.
1) basis ‘ | 2) medicine
3) action : 4) situation
82- We didn’t want to ............ too much because it would have been crazy to lose the ball and let the other
team score a goal.
1) attack 2) practice 3) exchange 4) carry
83- A/Anm........... lifestyle and regular exercise will strengthen the immune system and help prevent serious
diseases.
1) mental 2) additional 3) physical 4) healthy
84- The government is determined to limit the number of cars imported from China in order to protect the
............ producers.
1) domestic 2) familiar
3) probable 4) foreign
85- You are much more likely to make a/an ............ of something if you love what you are doing and have a
passion for it.
1) emphasis 2) success 3) action 4) function .
86- It is generally known that anthrax bacteria can live for decades in the soil or other ............
environments.
1) satisfied 2) hospitable 3) irregular 4) connective
87- Eliot said that only those who will risk going too far can ............ find out how far one can go.

1) locally , 2) recently 3) possibly 4) publicly
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PART B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice, (1), (2), (3), or (4), best fits each space. Then mark your answer sheet.

Most animals need shelter and a place to bring up their young. A nest in a tree or a burrow
underground ...88... an animal against hunters and extremes of ...89... . Many creatures, including birds
and squirrels, build nests. Some creatures weave complicated nests. The harvest mouse makes a
ball-shaped nest among corn stalks, ...90... . Other animals, including birds, build a nest only ...91... the
preeding season, in which they lay eggs or give birth to live young. They line the nest with moss, grass, fur,
or feathers ...92... it warm and dry. Rabbits and foxes dig burrows, or tunnels, in the ground; a desert
tortoise digs a burrow in which to hide from the noon sun. ‘ :

88- 1) regards 2) involves 3) protects 4) increases
89- 1) temperature 2) destruction 3) creation 4) comparison
90- 1) which its rest and sleep : 2) where it rests and sleeps

3) which itself rests and sleeps 4) where rests and sleeps it
91- 1) besides 2) during / 3) beside 4) along
92- 1) to keep 2) keep 3) they keep 4) them keep

PART C: Reading Comprehension :
Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). T hen mark your
answer sheet.

Passage 1:

The producers of instant coffee found their product strongly resisted in the marketplace despite their
product’s obvious advantages. Furthermore, the advertising expenditure for instant coffee was far greater
than that for regular coffee. Efforts were made to find the cause of the consumers’ seemingly unreasonable
resistance to the product. The reason given by most people was dislike for the taste. The producers doubted
that there might be deeper reasons.

This was confirmed by one of motivation research’s classic studies, one often cited in the trade. Mason
Haire of the University of California constructed two shopping lists that were identical except for one item.
There were six items common to both lists: hamburger, carrots, bread, baking powder, canned peaches,
and potatoes, with the brands or amounts specified. The seventh item, in fifth place on both lists, read “11b.
Maxwell House coffee” on one list and “Nescafé instant coffee” on the other. :

One list was given to each one in a group of fifty women, and the other list to those in another group of
the same size. The women were asked to study their lists and then to describe, as far as they could, the kind
of woman (personality and character) who would draw up that shopping list. Nearly half of those who had
received the list including instant coffee described a housewife who was lazy and a poor planner. On the
other hand, only one woman in the other group described the housewife, who had included regular coffee
on her list as lazy; only six of that group suggested that she was a poor planner. Eight women felt that the
instant-coffee user was probably not a good wife! No one in the other group drew such a conclusion about
the housewife who intended to buy regular coffee. ’

93- In the study, the women were supposed to give their opinions about ............ .
1) which was better, instant coffee or regular coffee ‘
2) women’s attitude towards shopping
3) the necessity of making such a shopping list
4) the personality of a woman who would prepare such a list

94- The word “identical” in the second paragraph is closest in meaning to ............ .
1) unique 2) personal 3) similar 4) dedicated
95- The result of the investigation showed that ............ .

1) women who used regular coffee were good planners

2) most of the women investigated were good at reasons

3) many women believed that wives who used instant coffee were lazy
4) housewives who used instant coffee were lazy
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96— Judglng by the result of the study, many women were not interested in instant coffee because ............ .
1) they didn’t trust advertisements
2) instant coffee was not suited to their taste
3) they wanted to show that they were intelligent

4) they had a sense of shame about us1ng instant coffee
Passage 2: ‘

A new enemy is threatening Japanese traditions: leisure. As part of its attempt to increase imports, the
government is trying to get people to work less and spend more. The workers are disgusted.

The figures support the western prejudice that the Japanese are all work and no play. Trying to force
workers away from their desks and machines, the government said last April that the country should cut
down from its 2,100 hours’ average work year to 1,899 hours and a five-day week. Beginning in February,
banks and stock markets will be closed on Saturdays, and staff of civil service will be forced out of their
offices two Saturdays a month. The government hopes that others will follow that practice.

But some persuasion will be needed. Small companies are very angry about it, and they fear
competitors may not cut hours. The unions are no happier: they have even advertised in newspapers
arguing their case against the foreign pressure that is forcing leisure upon them. They say that shorter
hours are a disguised pay cut. The industrialists, who have no objection to the government’s plans, admit
that shorter hours will help them cut costs. Younger Japanese who are supposed to be acting against their
hardworking parents, show no sign of wanting time off, either. But unlike older workers, they do spend
money in their spare time. Not content with watchmg television, they dress up, sit in cafés, go to pop
concerts and generally drive the lelsure-mdustry boom. Now that they know how to consume, maybe the
West can teach them to relax and enjoy themselves, too.

97- The purpose of getting the Japanese to have more spare time is that ............ .
1) the government wants to show'more concern for the health of the people
2) the government needs to get more goods from abroad
3) the Japanese have been working too hard
4) the Japanese hope to change the western prejudice

98- The group of people who welcome the shorter-hour system in Japan is ............ .
1) the small companies - 2) the industrialists
3) the unions 4) the younger generation

99- The unions think that ............ .

1) the shorter hours they work, the higher pay the can get

2) the more they work, the less leisure they can enjoy

3) the shorter hours they, work, the less pay they will have

4) the greater pressure the government is forcing on them, the less happy they will be
100- The best title for this passage can be ............ p

1) Oh no! Not Saturday Again! 2) Leisure: The Greatest Threat!

3) Enjoy While You Are Young! 4) Less Work and More Leisure!
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PART A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76-

71-

79-

81-

84-

85-

87-

Lhave .. visited Africa, but I have ............ to South America several times.

1) never / gone 2) ever / gone 3) never / been 4) ever / been

If you don’t clean your bedroom, your mother ............ to the movie tonight.

1) will not allow you to go 2) won’t allow you going

3) would not allow you to go 4) wouldn’t allow you go

The store is having a great sale today. Most laptops are at least 25% ............ they were yesterday.

1) as cheap as 2) the cheapest

3) cheaper than 4) more cheaply than

Samira’s flight from Vancouver took more than 11 hours. She ............ be very tired after such a long
flight. She ............ prefer to stay in tonight and get some rest.

1) must / might 2) has to / may 3) must / can 4) has to / could

Tobacco addiction costs our ............ a lot of money in medical care for both smokers, and those around
them.

1) culture 2) lifestyle 3) function 4) society

A number of ships and planes were reported to have mysteriously ............ after entering the area
known as the Bermuda Triangle in the Atlantic Ocean.

1) disappeared 2) separated 3) identified 4) endangered

At the moment there are just four television channels in our country, which broadcast content such as
wreesseenses o NEWS and sports.

1) entertainment 2) development

3) improvement 4) arrangement

Walt Disney’s .....c...... and creativity resulted in the production of some wonderful animated movies.

1) explanation 2) imagination

3) variation 4) suggestion

The right of children to play improves their ............ physical and psychological development and builds
stronger communities.

1) advanced 2) available

3) energetic 4) healthy

Worsening eyesight ........... her from seeing the screen easily, and lately she has been reading with the
aid of eyeglasses.

1) involves 2) regards 3) prevents 4) measures

In the course of her charity work she was known to many people in the local towns and was very
............ with everybody.

1) mental 2) constant 3) public 4) popular

In Siberia, it can get so cold that the moisture in a person’s breath freezes, and can ............ be heard

when it falls to earth as ice crystals.
1) deeply 2) physically 3) actually 4) strongly
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PART B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice, (1), (2), (3), or (4), best fits each space. Then mark your answer sheet.

The term “information technology,” or IT for short, is used to describe technologies that handle, store,
process, and transmit, or pass on, information. When people talk about IT, they usually mean the use of
computers ...88..., but radio, television, telephones, fax machines, and DVD players are also examples of
information technology. Information technology in some form ...89... since humans developed pictures and
writing, while later inventions such as printing made information more widely ...90... . Modern
information technology is based on electronics; ...91... amounts of information, including pictures and
sounds, can be stored as electric signals and transmitted anywhere in the world. Information technology
...92... in every part of our lives from schools and hospitals to shopping. Its impact has been enormous,
making the world truly a “global village.”

88- 1) storing and passing on an information 2) to store and pass on informations

3) store and pass on information 4) to store and pass on information
89- 1) exists 2) is existed 3) is existing 4) has existed
90- 1) symbolic 2) probable 3) available 4) balanced
91- 1) deep 2) vast 3) rapid 4) fast
92- 1)used 2) is used 3) using 4) to use

PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your
answer sheet.

Passage 1:

For centuries men dreamed of achieving vertical flight. In 400 A.D. Chinese children played with a fan-
like toy that spun upwards and fell back to earth as rotation ceased. Leonardo da Vinci conceived the first
mechanical apparatus, called a “Helix,” which could carry man straight up, but was only a design and was
never tested.

The ancient dream was finally realized in 1940 when a Russian engineer piloted a strange looking craft
of steel tubing with a rotating fan on top. It rose awkwardly and vertically into the air from a standing
start, hovered a few feet above the ground, went sideways and backwards, and then settled back to earth.
The vehicle was called a helicopter.

Imaginations were fired. Men dreamed of going to work in their own personal helicopters. People
anticipated that vertical flight transports would carry millions of passengers as do the airliners of today.
Such fantastic expectations were not fulfilled.

The helicopter has now become an extremely useful machine. It excels in military missions, carrying
troops, guns and strategic instruments where other aircraft cannot go. Corporations use them as airborne
offices, many metropolitan areas use them in police work, construction and logging companies employ them
in various advantageous ways, engineers use them for site selection and surveying, and oil companies use
them as the best way to make offshore and remote work stations accessible to crews and supplies. Any
urgent mission to a hard-to-get-to place is a likely task for a helicopter. They have been also used to deliver
people across town, fly to and from airports, assist in rescue work, and aid in the search for missing or
wanted persons.

93- When helicopters were first introduced people expected that ............ .

1) the present-day airliners would eventually be replaced by helicopters

2) helicopters would someday be able to transport large numbers of people from place to place
3) the imaginations fired by the Russian engineer would become a reality in the future

4) their fantastic expectations about helicopters could be fulfilled by present-day airliners
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94- According to the passage, helicopters work with the aid of ............ .
1) a combination of rotating devices in front and on top

2) a rotating device topside

3) one rotating fan in the center of the helicopter and others at each end

4) a rotating fan underneath for lifting the helicopter
95- How has the use of helicopters developed in the past decades?

1) They have been widely used for various purposes.

2) They are taking the place of high-flying jets.

3) They are mostly used for rescue work.

4) They are now used exclusively for commercial projects.

96- Under what conditions are helicopters found to be absolutely essential?
1) for overseas passenger transportation
2) for extremely high altitude flights
3) for high-speed transportation
4) for urgent mission to places inaccessible to other kinds of craft
Passage 2:

There are two basic ways to see growth: one as a product, the other as a process. People have generally
viewed personal growth as an external result or product that can easily be identified and measured. The
worker who gets a promotion, the student whose grades improve, the foreigner who learns a new language
— all these are examples of people who have measurable results to show for their efforts.

By contrast, the process of personal growth is much more difficult to determine, since by definition it is
a journey and not the specific signposts or landmarks along the way. The process is not the road itself, but
rather the attitudes and feelings people have, their caution or courage, as they meet with new experiences
and unexpected obstacles. In this process, the journey never really ends; there are always new ways to
experience the world, new ideas to try, new challenges to accept.

In order to grow, to travel new roads, people need to have a willingness to take risks, to confront the
unknown, and to accept the possibility that they may fail at first. How we see ourselves as we try a new way
of being is essential to our ability to grow. Do we perceive ourselves as quick and curious? If so, then we
tend to take more chances and to be more open to unfamiliar experiences. Do we think we’re shy and
uncertain? Then our sense of timidity can cause us to hesitate, to move slowly, and not to take a step until
we know the ground is safe. Do we think we’re slow to adapt to change or that we’re not smart enough to
deal with a new challenge? Then we are likely to take a more passive role or not try at all.

97- Which of the following examples might be considered as personal growth in public’s eye?
1) a person who has given up his/her smoking habit
2) someone who has made great efforts in his/her work
3) a person who is fond of learning anything new
4) a young woman who has tried to determine where she is on her journey
98- In the author’s eyes, one who views personal growth as a process would ............ .
1) definitely succeed in climbing up the social ladder
2) confront difficulties and take up challenges
3) aim high and reach his/her goal each time
4) gain measurable results each time

99- The word “confront” in the third paragraph is closest in meaning to ............ .

1) notice 2) realize 3) change 4) face
100- For personal growth, the author would NOT agree that one should ............ .

1) be curious about more chances 2) deal with internal fears and doubts

3) focus only on measurable results 4) be open-minded to new experiences
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PART A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76-

77-

78-

79-

80-

81-

82-

83-

84-

86-

87-

Lionel Messi played wonderfully in the final, and was chosen ............ of the tournament.

1) the player most valuable 2) more valuable player

3) more valuable than a player 4) the most valuable player

Many Americans believe they need to have guns to protect and families against violent
criminals in their communities.

1) them / themselves 2) themselves / their 3) them / their 4) themselves / themselves

You............. take at least one elective course, but the type of course you choose is entirely optional.

1) can 2) must 3) may 4) might

I hit a car whileI ............ the parking lot, but it ............ any marks on it.

1) left / wasn’t leaving 2) was leaving / didn’t leave

3) left / didn’t leave 4) was leaving / wasn't leaving

When visiting a foreign culture, in order to be polite, the best thing to do is fo ............ your host and
others around you, and follow their example.

1) develop 2) observe 3) mention 4) involve

We bought a/an ............ of our trip to Turkey, but then discovered on the label that it was made in
China.

1) souvenir 2) hospitality 3) attraction 4) tradition

Family members of the lost hiker say that he is a very resourceful person and are confident he will be
found ............ and well

1) physical 2) natural 3) mental 4) alive

The human heart creates enough pressure when it ............ out to the body to squirt blood 30 feet.

1) holds 2) sticks 3) pumps 4) gains

The ............ of a small airplane died after his aircraft suddenly dived into the sea for unknown reasons.

1) agent 2) astronaut 3) instructor 4) pilot

The National Security Council serves to advise the President on ............ foreign, and military policies

related to national security.

1) domestic 2) voluntary 3) relative 4) subjective

The police need to improve security around the Prime Minister because in the past four years
terrorists have tried to ............ him on two separate occasions.

1) attack 2) identify 3) defend 4) involve

Today we still remember the ............ young soldiers who fought and died to protect our country.

1) recent 2) public 3) irregular 4) brave
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PART B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice, (1), (2), (3), or (4), best fits each space. Then mark your answer sheer.

When a giant star explodes and collapses, it can create an object of incredibly high density. This object
has such massive gravitational pull that nothing can ...88..., not even light. It is called a stellar black hole.
Anything ...89... into the gravitational field of the black hole is invisible. Black holes may also ...90... at
the center of galaxies from clouds of gas, ...91... . These are called supermassive black holes and can have
up to hundreds of thousands of times the mass of our Sun. The gravitational force is so great that ...92...
may be pulled into the vortex. As they become squeezed together on the edge of the funnel, they form a
whirlpool concentration of gas, dust, and smashed stars that flares with brilliant light.

88- 1) perform 2) escape 3) defend 4) include
89- 1) that is come 2) is come 3) that comes 4) comes
90- 1) involve 2) contain 3) develop 4) place
91- 1) rather than from the remains of giant stars 2) even though from the giant stars’ remain
3) to remain from giant stars instead 4) instead of the remains of stars’ giant
92- 1) stars thousands 2) thousands of stars 3) thousands of star 4) stars of a thousand

PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your
answer sheet.

Passage 1:

The first woman astronomer helped discover the planet Uranus. Caroline Herschel and her brother
William were, at first, musicians. They were born in Germany. However, they lived and worked in England
for most of their lives. William became fascinated by the telescope. At that fime, it was a new invention.
Because they were poor, William decided to build his own telescope. He even had to use horse manure as
the mold for the telescope mirrors. He built his own four-foot wide, forty-foot long telescope. It was the
largest telescope in the world at the time. Caroline helped her brother by spoon-feeding him while he
ground the lenses for his telescopes.

In 1781, William discovered a new planet — Uranus. He did this using a telescope he built. It was the
first planet discovered with a telescope. It was the first planet that had not been known to people in ancient
times. It was much farther away than Saturn. So the discovery of Uranus doubled the known size of the
solar system. During her lifetime, Caroline herself used the telescope. She discovered eight comets. Both
Caroline and her brother were awarded honors. They were also given yearly pensions by King George II1
for their findings. Because of these awards, Caroline became the first professional female astronomer.

93- Which of the following ideas can you infer from the passage?
1) William and Caroline were trained at a university to study astronomy.

2) Caroline and William’s discoveries brought them fame and honors.

3) Music and astronomy were closely related in the ancient world.

4) William and Caroline were rich members of the nobility.

94- The phrase “fascinated by” in the first paragraph means ............ .
1) comfortable with 2) doubtful about 3) very interested in 4) naturally amused by

95- Which event made Caroline a professional astronomer instead of just an amateur student of the skies?
1) helping William build a telescope 2) using a telescope
3) receiving rewards for her achievements 4) discovering Uranus
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96- Which detail in the passage strongly suggests that Caroline and her brother were very close friends
and collaborators?
1) William discovered Uranus.

2) William made the largest telescope of his time.

3) The king gave them both rewards.

4) Caroline spoon-fed William while he ground the lens for a telescope.

Passage 2:

Clarence Birdseye was a taxidermist. He stuffed dead animals for a living. However, what he really
wanted to do was cook. He didn’t just want to cook ordinary food. He wanted to be a chef. He enjoyed
cooking fancy meals for his family. During a trip to the Arctic, Clarence watched Eskimos freeze fish and
other meat in barrels of ice-cold, salty seawater. The water Kkept the food from spoiling. Clarence
thoroughly investigated the process and inspected the stored fish. The meats and fish were thawed and used
months later during the summer. He found that these foods retained all of their flavor and remained
unspoiled.

When Clarence Birdseye got back home, he tried preserving different kinds of food using ice and brine
(salt water). He was delighted to find that the process worked. He also invented a wax-lined cardboard box
for storing frozen vegetables. One of the first vegetables he preserved was frozen spinach. He packed it in
solid blocks using his lined boxes. The first frozen food was sold in Springfield, Massachusetts, and was
called Birds Eye Frosted Foods®. Soon, Clarence put his name on an entire medley of frozen vegetables,
and today frozen foods are common in every grocery store. His new occupation surely pleased Clarence
more than taxidermy!

97- Where did Clarence Birdseye first come across the idea of preserving foods for a long time?
1) in the Arctic 2) in Springfield, Massachusetts

3) at his home 4) in a grocery store
98- The word “retained” in the first paragraph is closest in meaning to ............ .

1) kept 2) made 3) took 4) lost
99- What is the main idea of the first paragraph?
1) how the Eskimos contributed to frozen food

2) how Clarence Birdseye learned to preserve foods for long

3) how taxidermy and frozen food are related

4) the story of Clarence Birdseye as a taxidermist
100- Which of the following events happened second?

1) Clarence thoroughly investigated how to freeze food.

2) Clarence watched the Eskimos preserve meat and fish.

3) Clarence froze different kinds of food.

4) Clarence invented the wax-lined box.
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PART A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete senfences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76-

77-

78-

79-

80-

81-

82-

83-

84-

85-

86-

87-

Children who don’t do much exercise and who have parents who are overweight, will probably become

obese ............ as adults.

1) their parents 2) them

3) themselves 4) they

For the poor people in many developing countries, recreational activities are not an option; they
............ all the time in order to survive.

1) have worked 2) should to work

3) would be worked 4) must work

p 1) ERRmmE—— the course if you ............ a better job on your next presentation.

1) may fail / don’t do 2) fail / don’t do

3) might fail / haven’t done 4) will fail / won’t do

The police............. yet been able to establish the cause of death for a man who was found dead in the river.

1) aren’t 2) has not 3) have not 4)isn’t

The baby seemed ............ by the toys that were shown to her and smiled and laughed at them.

1) interested 2) confused 3) amused 4) frightened

‘We should check the ............ newspaper to find out what is happening in our town this weekend.

1) local 2) regular 3) general 4) plural

A s diet is one that gives your body the nutrients it needs to function correctly, without going

over the recommended daily calorie intake.

1) creative 2) delicious 3) popular 4) balanced

Millions of people can Now ............ files online every day, using various file-sharing systems.

1) make up 2) exchange 3) move on 4) identify

You have to at least make a/an ............ to pass the test even if you think you won’t be successful.

1) influence 2) possibility

3) attempt 4) activity

‘We looked through the travel brochures at the tourist agency, trying to choose a/an ............ for our

summer holidays.

1) destination 2) entertainment

3) hospitality 4) attraction

One way fo ............ your health is to find disease early by having appropriate screening tests when
recommended by a health professional.

1) involve 2) protect 3) mention 4) recognize

Bacteria, the tinmiest cells, are so small that a single drop of ............ may contain over S0 million
bacteria.

1) liquid 2) object 3) material 4) nature
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PART B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice, (1), (2), (3), or (4), best fits each space. Then mark your answer siieel.

On April 12, 1961, the world watched in wonder as Yuri Gagarin of Russia blasted off from Earth aboard
a huge rocket and entered space. He was the first cosmonaut — the Russian word for astronaut, ...88... . Eight
years later, Neil Armstrong walked on the Moon and became the first human being to step on to another
world away from our planet. Since then, ...89..., both men and women, have voyaged info space. Astronauts
have jobs to do during their ...90... . They help with the construction of the International Space Station and
perform scientific ...91... under the weightless conditions of space. Today astronauts are ...92... for the next
major landmarks in space exploration: to go back to the Moon and then perhaps to Mars.
88- 1) a person who has been trained to work in space

2) someone who has been trained works in space

3) a person who has trained to work in spaces

4) somebody who has been trained to work in spaces

89- 1) some hundred others astronauts 2) a few hundred other astronauts
3) some hundreds other astronaut 4) a few hundreds others astronaut
90- 1) attempts 2) sections 3) compounds 4) missions
91- 1) experiments 2) documents 3) arrangements 4) involvements
92- 1) preparing 2) collecting 3) generating 4) confirming

PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your
answer sheet,

Passage 1:

Eliza Harris was a young slave mother living in Kentucky. Two of her children had already died from
starvation and mistreatment. She learned that she and her two-year-old daughter were to be sold to different
owners. They would be separated from each other and from the rest of her children. Eliza fled. She was
determined to get across the Ohio River to a free state. Then she intended to escape all the way north to
Canada. Eliza walked many miles through the bitter cold of a winter night to the river. She carried her
daughter in her arms. With slave catchers following close behind her, Eliza leapt onto a piece of ice floating
down the river. She jumped to another chunk of ice when that piece started to break apart and sink.

Eliza crossed the wide river, jumping barefoot across broken ice pieces. She was still holding her child
in her arms. A stranger who watched her daring crossing guided Eliza to a house. The house belonged to a
family who helped African Americans escape from slavery. There were many people in the area that
opposed slavery, and some of them helped runaways. She was then led to the homes of other people who
moved her along secret routes to freedom. Eventually, Eliza returned and led her other children to
freedom. Her story and name were later used in a novel against slavery, Uncle Tom’s Cabin. In this way,
her brave journey and strong character have been preserved for many years to come.

93- The word “fled” in the first paragraph is closest in meaning to ............ .

1) defended 2) continued 3) traveled 4) escaped
94- What do you think made the stranger want to help Eliza?

1) He had been a slave just like Eliza.

2) He was impressed by her courage crossing the river.

3) He wanted to write a novel based on her character.

4) He was an African American.
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95 All of the following are mentioned to prove that Eliza had great determination and courage EXCEPT .............
1) she leaped barefoot from ice piece to ice piece while carrying her daughter
2) two of her children had already died from starvation and mistreatment
3) she walked many miles through the bitter cold of a winter night
4) she was being chased by slave catchers and that didn’t stop her
96- Who helped Eliza escape from Kentucky to Canada?
1) people who opposed slavery in the US
2) any African American that she met on her way
3) The author of the novel Uncle Tom’s Cabin
4) her children whom she had to leave behind
Passage 2:

‘We might not think of corn as an ancient grain, but it is. For centuries, it has been known and grown as
maize in the Americas. Scientists believe the original wild form of corn has long been extinct. Through the
years, corn has been cultivated to the point where it is truly a domesticated crop. In its present state, it does
not grow and propagate without man’s intervention.

Corn is prepared and eaten in a variety of ways. Cornmeal is made by grinding whole corn. It is used
for making cornflakes, cornbread, pancakes, and tortillas. Cornstarch is made from the endosperm. It is
used in baby powder, as a thickening agent, and in some plastics. Corn syrup is made from cornstarch. As a
sweetener, it is cheaper to produce than sugar cane.

‘We produce a biofuel, or gas, from corn called ethanol. Cars can run on a mixture of gasoline and up to
10 percent ethanol. Oil is also produced from corn and is used for many things, including cooking. After oil
is pressed from corn, the germ remains. It can be used for livestock food or added to industrial glue for
strength.

Plastic made from corn uses over 50 percent less fossil fuels than other plastics. These products also
decompose more easily in landfills. A common use of such plastic is food containers and disposable
silverware.

Other uses for corn and its products include snack foods, medicinal teas, cosmetics, and soap. Corn is
used in agriculture for animal bedding, feed, and fertilizers. We use corn products to make matches and
carpet. It’s even used in batteries and crayons! It’s hard to imagine a crop worldwide that has as many uses

as corn.
97- The main factor leading to the development of such a variety of uses for corn might be that it ............ 5
1) takes little effort to process 2) has been cultivated in Europe for centuries
3) grows anywhere on Earth 4) only grows in certain areas
98- The underlined word “it” in the third paragraph refers to ............ -
1) ethanol 2) oil 3) com 4) germ
99- According to the passage, corn can be used in all of the following products EXCEPT ............ .
1) batteries 2) crayons 3) light bulbs 4) matches

100- Which statement best illustrates how corn products are beneficial to the environment?
1) In its present state, corn does not grow and propagate without man’s intervention.
2) As a sweetener, corn syrup is cheaper to produce than sugar cane.
3) Corn can be used for livestock feed or added to industrial glue for strength.
4) Plastic made from corn uses over fifty percent less fossil fuels than other plastics.
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PART A: Grammar and Vocabulary sy

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

Y (el ol S JS ol
¥ o ulJ"L.“U \ uvIR

hen mark the answer on your answer sheet.

76- When she asked me which one of the shoes | wanted, | immediately said: “The ... of VA4 ko G 18 doio

them!”
1) goods 2) better than 3) best 4) well
77- Last night | dropped a plate while I ... the dishes. Fortunately I didn’t break it.

1) was done 2) was doing 3) have done 4) did
78- Before this year, | ... move out of my parent’s house, because | didn’t have a job.
1) cannot 2) should 3) could not 4) could

79- Although she had lived in England for a long time, she couldn’t speak English as ... as a native speaker.
1) well 2) good 3) best 4) better
80- The police are trying to ... the man who made a bloody attack to the students in a school in the downtown.
1) defend 2) protect 3) save 4) hunt
81- | read once that the ... Egyptians had fifty words for sand and the Eskimos had a hundred words for snow. |
wish | had a thousand words for love, but all that comes to my mind is your beautiful soul and there is no
word for that.
1) injured 2) ancient 3) dangerous 4) clear
82- Nobody knows exactly why the giant animals called dinosaurs died out. Most scientists think that its reason,
most ..., is the sharp decrease in the temperature of the earth.
1) generously 2) favorably 3) probably 4) carefully
83- Don’t ... when you still have something to give, because nothing is really over until the moment you stop
trying.
1) get around 2) donate 3) give up 4) grow up
84- At first everything seemed to be going on OK, but later we came to face with ... situations leading the
company to get closed.
1) rocky 2) holy 3) weak 4) useful
85- Before going to bed, he sits ... on an easy chair and listens to some classical music while reading a novel. This
is the way he relaxes himself from daily stress.
1) exactly 2) strongly 3) hopefully 4) comfortably

86- The recent report shows that there has been a sharp ... in the orders for the products produced by the
domestic factories.
1) pain 2) drop 3) key 4) gift

87- Although the restaurant does not have the best food, | go there often because the ... waiters treat me as a
special guest.

1) suitable 2) brave 3) interesting 4) hospitable
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice
on your answer sheet.

I enjoy walking in the zoo and watching different animals there. Tomorrow morning, my parents and |
...(88)... visit the small zoo near the park. I don’t like to see animals kept at zoo, but my father said since
these animals are dying out in the environment, people bring them to the zoo so that these animals can
remain ...(89)... . I asked my father, “...(90)... is the environment?”” and he said that every place in which
animals can live naturally is the environment. He also said that the animals in the environment usually live
...(92)... than those kept at zoo, but the zoo is safe for them and protects them from hunters. The zoo will
be our ...(92)... tomorrow, but I like to go and visit the environment one day.

88- 1) am going to 2) will go 3) are going to 4) will to
89-1) alive 2) endangered 3) amazing 4) famous
90-1) who 2) why 3) where 4) when
91-1) as long 2) the longest 3) as longer 4) longer
92-1) destination 2) nationality 3) movie 4) forest

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage (1)

You sit down at a table with a pencil in your hand and a sheet of paper in front of you. What’s the first
thing you draw? You probably start by drawing a line. A line is a way to connect one point to another one.
There are many types of lines. Each kind helps artists create art that communicates certain feelings.

Straight lines travel directly from one point to the next in the quickest way possible, like the lowercase
letter “I””. Straight lines communicate correctness and directness.

Curved lines round from one end to another just like the letters “C” or “O”. They are like a circle.
Curved lines may communicate kindness or friendship.

Lines can be thick (fat) or thin or anything in between. You can draw a thick line by pressing harder on
your pencil. Thick lines are heavy and certain. Thin lines, on the other hand, only need a small amount of
press when you draw. Thin lines present lightness or quickness.

Finally, lines can take the form of a zigzag. Think of shark’s teeth or the letter “Z”. Zigzag lines
communicate sharpness or hardness. The wavy lines are absolutely different from zigzag lines. Like the
waves of the ocean, they can slowly go up and down. These lines can show that something is stupid and fun.

93- What is the best topic for this passage?

1) The Language of Lines 2) Drawing a Wavy Line

3) The Straight Lines 4) Zigzag and Curved Lines
94- What does the author describe in this passage?

1) Different kinds of art 2) Different kinds of lines

3) Different artwork that uses lines 4) Different ways to create art

95- What is the main idea of the passage?
1) Different kinds of lines can communicate just one feeling.
2) Some lines can communicate no feelings.
3) Lines cannot communicate feelings of an artist.
4) Different kinds of lines can communicate different feelings.
96- According to the passage, which sentence is NOT true?
1) Curved lines communicate kindness or friendship. 2) A straight line shows correctness and directness.
3) Zigzag lines go slowly up and down. 4) A line connects one point to another point.
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Passage (2)
Samuel Johnson is a fascinating author. He began writing poetry as early as age 15, but throughout his

lifetime, he wrote a great variety of works. For instance, he wrote plays and short biographies and articles.
He wanted to be a teacher, but couldn’t find work. He attempted to open a school, but too few students
were interested so he turned to writing.
Unfortunately his family lost nearly all of their money and fell into poverty. It was an extremely difficult
time for them, and Johnson’s writing did not bring in the money they needed. He wanted to complete his
education at Pembroke College in Oxford, but he didn’t have the money and was forced to quit early. He
then tried to become a lawyer without a law degree and wasn’t accepted. Finally, he decided to write a
dictionary.
The world had dictionaries, but the English wanted a new one, as language was constantly changing and
developing. With just six helpers, Johnson read several important books and then collected and defined
more than 40,000 words that he found in those books.
One of Johnson’s unique accomplishments was that he defined all of the differing meanings of single
words. His dictionary proved to be a model for all English dictionaries that followed. Some of his definitions
contained witty humor as well, and people actually enjoyed reading the dictionary! He also included quotes.
His accomplishment took only nine years to complete. Samuel Johnson published the Dictionary of the
English Language in 1755. As a result, Oxford University awarded Johnson an honorary master’s degree.
97- Samuel’s attempt to found a school of his own ended in failure because ... .

1) he first had to finish his education at college

2) starting a private school required a lot of money

3) not many students were willing to attend his school

4) he lacked the university degree necessary to start a school
98- The underlined word ‘constantly’ in the third paragraph is closest inrmeaning to ... .

1) frequently 2) rarely 3) effectively 4) immediately
99- All of the following are mentioned as factors of uniqueness in Johnson’s dictionary EXCEPT ... .

1) quotes 2) witty humor

3) synonyms and antonyms 4) different meanings for single words
100- The passage provides enough information to answer which of the following questions?

1) Where was Samuel Johnson born and brought up?

2) How many people worked to compile the Dictionary of the English Language?

3) Why did Samuel Johnson’s family lose nearly all of their money and fall into poverty?

4) What are some of the books Johnson used to decide which words to include in his dictionary?
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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer

sheet.

61- “How well do you know Ted?”
“Very well, we ... friends since we were children.”
1) are 2) were 3) have been 4) will be

62- We have planned everything for our vacation; however, if the weather ... bad tomorrow, we may not go to
the beach.
1)is 2) was 3) will be 4) be

63- | regret to inform you that the books you have ordered in advance are not ... yet. We’ll let you know as soon
as they are ready.
1) familiar 2) valuable 3) available 4) balanced

64- My sister has been sick for a long time. | feel like she’s ... her strength back after the serious illness.
1) including 2) referring 3) preventing 4) gaining

65- The body of the person killed in the fire was badly burned, so the firefighters could not ... him at first.
1) check 2) increase 3) identify 4) pay attention to

66- There are only two kinds of people who are really fascinating: people who know everything, and people who
know ... nothing.

1) fluently 2) absolutely 3) greatly 4) frequently

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

There are some ways to help and respect the elderly. You may find the following useful in dealing with
the elderly people in your family. Offer to provide support. Elders often need some kind of help with their
day-to-day tasks. They may need help reading their e-mails, or they may need constant care because of
their health problems. Let them know you are interested in helping them. Don’t guess about what the
person needs or wants. If you do, the person may feel that you think they are disabled or you don’t respect
them. You can say something like, “Grandmother, | know you may not need my help, but if you’d like some
help around the house, 1’d love to do that for you.”

Take on the responsibilities you can. You might not be able to provide all the care that the person needs.
For example, if someone needs nursing around the clock, and you are not available all the time. However,
you can hire a nurse by paying to satisfy their needs. The problem is that in some cultures, it is considered

disrespectful or a failure to hire someone outside the family to care for an elder.
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Don’t ignore or forget yourself. Taking care of an elder may create some changes in your life, but it

should not cause you to lose your job or give up your musts.

Help them stay healthy. Elders may have a hard time staying active and eating healthy meals. They may

have trouble moving around. Shopping and cooking may be difficult for them. Visit the person regularly

and go for a walk with them. Even a short walk provides fresh air and movement. Bring them food when

you come for a visit. In this way, they won’t need to spend a lot of energy to get a nutritious meal. If you

can’t bring them food, look into programs such as Meals on Wheels which deliver food to the elderly.
67- Which one is TRUE according to the passage?

1) We should help the elderly without asking them. 2) We should guess about the elderly’s needs.

3) We should offer help to the elderly if they need. 4) The elderly should listen to what we say.
68- The underlined word “constant” in the passage is closest in meaning to ... .

1) excellent 2) important 3) practical 4) continuous
69- Regarding our responsibilities towards the elderly, we ... .

1) should be at their service at any event 2) should ask them to forgive us

3) can hire a nurse to take care of them 4) can give up our jobs to meet their needs
70- All of the following sentences are true about the passage EXCEPT ... .

1) The elderly can use delivery meal if necessary.

2) The elderly should spend a lot of time preparing their food.

3) Walking with the elderly and bringing them food are advised by the author.

4) Taking care of the elderly by a stranger is not appreciated in some cultures.

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer

PART C: Grammar and Vocabulary

sheet.

71- 1 didn’t enjoy the movie at all. It was really boring. As a matter of fact, it was ... movie I've ever seen.
1) a bad 2) worse than 3) as bad as 4) the worst
72- 1 don’t think Maria knows many people. Whenever | see her, she is always by ... .

1) herself 2) themselves 3) itself 4) himself
PART D: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

Firefighters are some of the bravest people out there. They put their lives at ...(73)... every day on the

job to keep the rest of us safe and sound. But firemen and firewomen still have those days at work that

make ...(74)... wonder what the heck people were thinking when they called 911. Some of the calls

firefighters respond to are enough ...(75)... you laugh out loud. I’m not sure which must stress them out the

most, these ridiculous, funny calls, or the ...(76)... ones when citizens are in real danger. One thing is for

sure: there is never a dull moment in the life of a firefighter.
73-1) hope 2) craft 3) arrow 4) risk
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74-1) scratch them their heads and 2) them scratch their heads and

3) them and scratch their heads 4) and their heads scratch them
75- 1) to make 2) make 3) making 4) have made
76- 1) famous 2) regular 3) serious 4) favorite

PART E: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Holidays are special days for the people of one nation or culture, which are set aside by the law or
through a custom, and on which everyday activities, such as work or school, are normally suspended. Every
country has several important holidays, which can be national (important for the state), religious
(important for a particular religious group), or simply cultural (such as celebrating the beginning of a
season, for example). Many holidays are celebrated in the winter, which is why this period is also known as
“the holiday season”.

Mexican people traditionally celebrate Christmas for twelve days— from Christmas evening on
December 24th, to the Three Kings Day on January 6th (also called the Epiphany; Epiphany literally
means a sudden moment of understanding.)

The Three Kings Day commemorates the end of these celebrations. This holiday was inspired by the
biblical story of the three kings from the East (also referred to as Three Wise Men or Magi), who spotted a

bright star in the sky the night Jesus was born, and came to see baby Jesus.

This holiday is so important for Mexicans that they often give additional gifts to their beloved ones on
this day, even though it is shortly after Christmas. Another custom specific for this holiday is baking
the Rosca, a sweet bread ring in which a small baby Jesus figurine is placed. Whoever finds the figurine has

to host another holiday’s party in February.

77- The best title for this passage can be ... .

1) A Moment of Understanding 2) Three Kings Day

3) Mexican holidays 4) Celebrating the Holiday Season
78- According to the text, which of the following statements is TRUE?

1) The Three Kings Day is one of the holidays which is held in May.

2) The Epiphany or little Christmas falls on a different date each year.

3) The Epiphany was inspired by the story of Three Wise Men.

4) The person who finds the Jesus figurine has to provide entertainment for the rest of the year.
79- According to the above passage, all descriptions about Rosca is true EXCEPT that ... .

1) it is a bread in which a small figure is put

2) it is a kind of sweet baked in the form of a ring

3) it is a specific custom for a national day in Mexico on December

4) it indicates which person should hold another party
80- The passage speaks about all of the followings EXCEPT that ... .

1) The Mexicans’ celebration which ends on January 6th is called the Epiphany

2) Epiphany is a Christian festival held in the memory of the Magi

3) Magi refers to Three Wise Men who came to see baby Jesus

4) Three Kings Day is held shortly before the Christmas
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PART A: Grammar & Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

61- A: I’d like to give you a lift in my car. | always drive home through that street.

B: Thanks, but I think I ... home. The weather looks very pleasant for walking.

1) will walk 2) am going to walk 3) am walking 4) walk
62- A: “Which car of these newest models in the show do you prefer?”
B: “I’d like to have ... car than the one | have. It keeps breaking down.”
1) a very reliable 2) the most reliable 3) as reliable as a 4) a more reliable
63- Which sentence is grammatically WRONG?
1) I need to study hard in Norooz.
2) | saw a scary big black cat in the kitchen!
3) Please refer to the table in page 64 for more details.
4) Alex can’t come to the party because he is going to be at his cousin’s funeral on Friday.
64- As your financial advisor, | recommend that you put the money, which you got last week, into this

particular bank. You will earn ... at 3% as long as you have money in your account.

1) billion 2) value 3) success 4) interest
65- | became aware of him looking at me. | ... realized what 1°d said to him, but it was too late.
1) suddenly 2) patiently 3) probably 4) especially

66- The embassy made various destinations more ... to both those who came to our country for work
and those who wanted to visit our culture and nature.
1) hospitable 2) identifiable 3) comfortable 4) suitable
67- Something you buy or keep to help you remember a holiday or a special event is called ... .

1) ceremony 2) drought 3) souvenir 4) observatory
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct

choice on your answer sheet.

Can you taste sounds or see symphonies of color whenever you hear a song? If your answer to these is
"yes", you may have a/an ...(68)... condition known as synesthesia. People with synesthesia experience
a unique mixing of two senses. Although there are some ...(69)... types of synesthesia, the most
common form ...(70)... place when someone always sees a certain color in response to a certain letter
of the alphabet or a certain number. For example, a person with synesthesia might see the word
“plain” as green or the number “4” as brown. There are also other types of synesthesia which involve
hearing sounds in response to smell, smelling something in response to touch, or feeling something in
response to sight. In the future, some researchers ...(71)..., studying the mechanisms of synesthesia
...(72)... provide very valuable information for brain science research. This can also allow us to better
understand how our brains guide us and help us deal with our world more easily.

68- 1) boring 2) endangered 3) ashamed 4) wonderful
69- 1) average 2) different 3) worried 4) daily

70- 1) to take 2) taking 3) take 4) takes

71- 1) break 2) destroy 3) believe 4) invent
72- 1) are going to 2) is going to 3) will going to 4) will be

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on

your answer sheet.

Passage 1

Most animals use more than one species as food. Therefore, the term “food web” is a better
description of the food relationship than the term *“food chain.” A *“food web” is a complex feeding
system that contains several food chains. For example, mice, rabbits, and deer eat plants, owls eat
meat and rabbits, and mountain lions eat rabbits and deer. These five species are parts of food chains
that together form a food web.

The first link in a food chain is always a green plant. Only organisms with chlorophyll, such as
green plants, can make food. For example, the first link in the aquatic chains is algae. Most algae are
microscopic green plants that produce food by photosynthesis, a process in which energy from
sunlight converts carbon dioxide and water to sugar. Tiny fish in lakes, streams, and oceans eat algae.
In turn, they are eaten by larger fish. These larger fish are eaten by still larger fish. Algae make the
food supply for fish. This food is then passed through the food chains as one animal eats another.

Organisms may be divided into three groups based on how they obtain food. These groups are
producers, decomposers, and consumers. Organisms containing chlorophyll are producers. Thus,
green plants are producers. Animals that eat other animals and plants are consumers. Microbes, one-
celled organisms that cause the decay of the dead animals and plants, are decomposers. Since
decomposers cannot make their food, they are also consumers.

73- What is the main purpose of this passage?
1) To determine which food chain is the most effective
2) To describe the food network among plants and animals
3) To explain the process of photosynthesis in green plants
4) To protect endangered plant species
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74- According to the author, what is a “food web’*?

1) A complicated system of several food chains
2) A society that makes food

3) The relationship of one green plant to another
4) Organisms that make their food

75- The author divides the organisms according to ... .

1) how they use energy

2) how they get food

3) how much energy they need to move

4) whether they live on the land or in the sea

76- According to the passage, which statement is NOT true?

1) Producers are organisms that contain chlorophyll.

2) Decomposers, such as microbes, are also producers.

3) The process of photosynthesis happens in organisms with chlorophyill.
4) Algae are the first links in the aquatic chains.

Passage 2

There are several ways to create a photograph. The most common photographs are made by using
a camera. In many ways, a camera works like the human eye. Like the eye, the camera takes in rays of
light reflected from a subject. It then focuses the rays into an image. Older cameras record the image
on inserted film. Newer digital cameras record the image on an electronic storage device such as a
memory card. Once the image is captured, it can be seen and enjoyed by many people.

When using a camera, the photographic process requires care and patience. Creating great
printed photographs by using older cameras requires five steps: (1) finding a subject, (2) focusing
on the subject, (3) exposing the film, (4) developing the film, and (5) producing the photograph.
Many professional photographers do all five steps themselves. They use a room called a darkroom.
It’s “dark’ so that light doesn’t ruin the negatives.

Photography makes our lives richer in many ways. Through photographs we can learn about
other parts of the world and see how people live. We can also imagine what life was like in other
time periods since the mid-1800s, when the camera was invented. Special cameras can capture
images in places most human beings can’t go, like distant planets or deep oceans. But, best of all,
photographs remind us of the special people and special times in our lives. Millions of people use
cameras to take pictures of their family, friends, and special celebrations. For them, the
photographs they take are priceless.

77- According to the passage, the most common photographs are made by using what?

1) A phone app 2) Papers exposed to light  3) A camera 4) Graphs and charts

78- What does the passage list?

1) The five steps for creating digital photographs using a newer camera

2) The five steps for creating printed photographs using an older camera
3) The five steps for creating digital photographs using an older camera

4) Famous photographers and the work they have done

79- How are newer cameras different from older cameras?

1) Creating photographs using newer cameras takes care and patience. Using older cameras does not.

2) Newer cameras work like the human eye. Older cameras do not work like the human eye.

3) Newer cameras record images on an electronic storage device. Older cameras record images on
inserted film.

4) Newer cameras take in rays of light reflected from a subject. Older cameras release rays of light
reflected from a subject.

80- What is the passage mainly about?

1) The importance of photography in our society

2) Different types of cameras used to make photographs

3) How photographs are made without the use of cameras

4) How to make photographs and the role they play in our lives
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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

PART A: Grammar and Vocabulary ]

) sty |

61- In some language institutes, learners are expected ... Farsi in classrooms.
1) don’t speak 2) not speaking 3) to not speak 4) not to speak
62- A: I don’t know where I have lost my driving licence.

B: Don’t worry. I’m sure you ... it soon.

1) will find 2) are going to find 3) should find 4) have found
63- The number of people at the meeting ... last week.

1) are larger than 2) is larger than

3) are larger than that of 4) is larger than that of

64- It’s the teacher’s duty to train the students in a way that they can be able to ... their views and
interests.
1) defend 2) contrast 3) surf 4) donate
65- Policy makers in education should design programs that ... students’ sense of responsibility.
1) collect 2) invent 3) locate 4) develop
66- A new research shows that group work helps children learn to share things and ... to each other.
1) express 2) relate 3) notice 4) behave
67- If you have a balanced diet, you are getting all vitamins you need. The underlined word in this
sentence means ... .
1) suitable for your body
2) containing the right foods in the right amounts
3) having the natural substances your body needs

4) having very little healthy food
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

The ability of tiny computing devices to control complex operations has changed the way many
tasks are performed, ranging from ...(68)... research to producing consumer products. Tiny
“computers on a chip” are used in medical equipment, home appliances, cars and toys. Today,
computers are no longer a luxury but a ...(69)... in the business world. ...(70)... we go, we find
some forms of computer, and behind each computer we find what is known in the computer
world as a user. In ...(71)... the world of users, what becomes clear is that no two users are

«..(72)... in troubleshooting a computer problem.

68- 1) attractive 2) dangerous 3) scientific 4) exciting
69- 1) necessity 2) event 3) hobby 4) mistake
70- 1) Actually 2) Everywhere 3) After a while 4) Soon
71- 1) observed 2) to observe 3) observing 4) observes
72- 1) surprised 2)possible 3) famous 4) similar

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct

choice on your answer sheet.

Passage 1

There are several reasons why women have a harder time losing weight than men. Some of
these reasons are purely physical. A 275-pound person walking at two miles per hour burns 6.4
calories per minute, while a 150-pound person walking at the same speed burns only 3.5 calories
per minute. Thus, men, being generally heavier, to begin with, can lose weight faster through
exercise than women can. What’s more, even if they were the same weight, a man would still burn
more calories than a woman doing the same amount of exercise. Why? Because a man’s body has
a higher ratio of muscle to fat than a woman’s, and it takes more energy to push muscle around
than fat. This may sound unlikely, but take my word for it! The more energy you use, the more
calories you burn. So, a dieting exercising man sees results a lot sooner than a woman, considers
his weight-reduction program more successful, and is more likely to stick with it. Men are also
more likely to add extra exercise to a weight-loss program. Most weight-conscious men can be
found working off those extra pounds in gyms and swimming pools, while women are likely to

head for a more passive program in a diet clinic or at home.
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73-The best title for this passage would be ... .

1) Reasons for Losing Weight 2) Calories and Weight
3) Exercise for Faster Weight Loss 4) Losing Weight
74- According to the techniques of paragraph writing, the function of this paragraphis ... .
1) objection 2) showing by examples  3) comparing 4) emphasizing

75- According to the passage, a 188-pound person walking at two miles per hour would burn ...
calories per minute than a 150-pound person doing the exact thing.
1) less 2) the same 3) half of 4) more
76-Which of the following can be concluded from the passage?
1) A man and a woman of the same weight would lose the same amount of weight through exercise.
2) It takes more effort to move fat compared with muscles
3) The more energy you use, the more weight you lose.
4) A heavier person can lose weight slower than a lighter person.

Passage 2

When asked about the people who taught us the most, who were there for us through
hardships, who laughed with us during the good times, who put up with us on our off days, most
of us think immediately of our parents. It is true: our parents are the ones who have been with us
through almost everything in our lives. Our mothers carry us for nine tiring months before we
are born, and for at least eighteen years afterward, our parents, to list a few things, take care of
us, teach us, help us, and provide for us financially and academically. Without them, most of us
would not be in the places we are today.

Unfortunately, however, many people do not treat their parents in the manner they deserve.
Teenagers fight relentlessly with their parents, often over extremely trivial topics. Other young
people ignore their parents. They instead prefer to spend time with their friends or online. As we
get older, we tend to forget that our parents are growing older as well, and they are pushed aside
to living on their own or in nursing homes while we start our own families. Not only is this
disregard unfair to our parents, butiit is also strictly forbidden in Islam. Respecting parents is one
of the most significant aspects of Islam. God has commanded us to treat our parents with respect,
no matter the situation we are in.

77-The author refers to “It is true” in paragraph 1 in order to ... .
1) introduce a new topic
2) mention an exception
3) change an earlier statement
4) further support the main point of the same paragraph

78- According to the passage, our parents support us for ... .

1) less than 18 years 2) exactly 18 years 3) about 9 months 4) at least 18 years
79- Which of the following could best replace the word “trivial” in paragraph 2?
1) unimportant 2) terrible 3) friendly 4) international

80- The passage is most likely to continue with ... .
1) reasons why father and mother are respectable in modern society
2) an example of the Quran about the importance of parents in Islam
3) a description of what young people will look like in the future
4) encouraging young people to earn more money
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Y S b5 PART A: Grammar and Vocabulary oS oo
- i Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each T ookl BY ey
v sentence. Then mark the answer on your answer sheet. 119 510 gladod

76- Rachel ... take her umbrella along with her today. The weatherman ... the news said it might rain
later on this afternoon.

1) can/on 2) must / at 3) should / on 4) may / at

77- The upcoming derby is so exciting. ... are playing their best and it is impossible to tell who ... win.
1) Both teams / are going to 2) Both team / will
3) Both teams / will 4) Both teams / is going to

78- Last week was the first time that | had ever started to play basketball, and | terribly felt like |
was ... player ever.
1) the worse 2) bad 3) the worst 4) worst
79- What happened last night was hard to understand and explain. I strongly asked them what ... at
seven last night.
1) were they doing 2) they were doing
3) do they do 4) they are doing
80- Piggy, Justin’s favorite pet dog, was suffering from a dreadful disease, and his wife, shockingly,
decided to ... her by shooting.
1) injure 2) exchange 3) celebrate 4) destroy
81- All of us were required to sit on the ground in a ... and talk about the activities we had to take in
the following day.
1) ring 2) body 3) trip 4) toll
82- | tried my hardest to provide a ... organized explanation for setting up a project to computerize the
library system at this university.
1) nearly 2) actually 3) hardly 4) neatly
83- The accident that happened in Chicago last night was in ... a new political game for people to forget
about the recent crisis.
1) belief 2) patient 3) notice 4) fact
84- It is an obvious reality that success does not come overnight. Great men and women achieve their goals
only with ... efforts.
1) fortunate 2) wonderful 3) downward 4) continuous
85- My dear Lily has got very old and this busy city life has no ... for her; therefore, she has decided to
live in a small village near the sea.
1) entertainment 2) possibility 3) knowledge 4) attraction
86- According to the tablets found in the central parts of Iran, particularly Kashan, the history of
writing in ... Iran dates back to 5 to 7 thousand years ago.
1) domestic 2) ancient 3) patient 4) rapid
87- The firefighters were not able to ... the fire made by a little child who, just with her childish
playfulness, wanted to light a candle.
1) fill out 2) put out 3) pack for 4) get off

a
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on
your answer sheet.

I enjoy walking in the zoo and watching different animals there. Tomorrow morning, my
parents and | ...(88)... visit the small zoo near the park. I don’t like to see animals kept at zoo, but
my father said that these animals are dying out in the environment, so people bring them to the zoo
so that these animals can remain ...(89)... . | asked my father, “...(90)... is the environment?” and
he said that every place in which animals can live naturally is the environment. He also said that
the animals in the environment usually live ...(91)... than those kept at zoo, but the zoo is safe for
them and protects them from hunters. The zoo will be our ...(92)... tomorrow, but I like to go and
visit the environment one day.

88- 1) am going to 2) will go 3) are going to 4) will to
89- 1) alive 2) hospitable 3) amazing 4) famous
90- 1) who 2) why 3) where 4) when
91- 1) as long 2) the longest 3) as longer 4) longer
92- 1) destination 2) nationality 3) movie 4) drop

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

Passage (1)

You sit down at a table with a pencil in hand and a sheet of paper in front of you. What’s the
first thing you draw? You probably start by drawing a line. A line is a way to connect one point to
another point. There are many types of lines. Each kind helps artists create art that communicates
certain feelings.

Straight lines travel directly from one point to the next in the quickest way possible, like the
lowercase letter “I”. Straight lines communicate correctness and directness.

Curved lines round from one end to another just like the letters “C” or “O”. They are like a
circle. Curved lines may communicate kindness or friendship.

Lines can be thick (fat) or thin or anywhere in between. You can draw a thick line by pressing
harder on your pencil. Thick lines are heavy and certain. Thin lines, on the other hand, only need a
small amount of press when you draw. Thin lines communicate lightness or quickness.

Finally, lines can take the form of a zigzag. Think of shark’s teeth or the letter “Z”. Zigzag lines
communicate sharpness or hardness. The wavy lines are absolutely different from zigzag lines. Like
the waves of the ocean, they can slowly go up and down. These lines can communicate that
something is stupid and fun.

93- What is the best topic for this passage?

1) The language of lines 2) Drawing a wavy line

3) The straight lines 4) Zigzag and curved lines
94- What does the author describe in this passage?

1) different kinds of art 2) different kinds of lines

3) different artwork that uses lines 4) different ways to create art

95- What is the main idea of the passage?
1) Different kinds of lines can communicate just one feeling.
2) Some lines can communicate no feelings.
3) Lines cannot communicate feelings of an artist.
4) Different kinds of lines can communicate different feelings.
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96- According to the passage, which sentence is NOT true?
1) Curved lines communicate kindness or friendship.
2) A straight line shows correctness and directness.
3) Zigzag lines go slowly up and down.
4) A line connects one point to another point.
Passage (2)

Samuel Johnson is a fascinating author. He began writing poetry as early as age 15, but
throughout his lifetime, he wrote a great variety of works. For instance, he wrote plays and short
biographies and articles. He wanted to be a teacher, but couldn’t find work. He attempted to open a
school, but too few students were interested so he turned to writing.

Unfortunately, his family lost nearly all of their money and fell into poverty. It was an extremely
difficult time for them, and Johnson’s writing did not bring in the money they needed. He wanted
to complete his education at Pembroke College in Oxford, but he didn’t have the money and was
forced to quit early. He then tried to become a lawyer without a law degree and wasn’t accepted.
Finally, he decided to write a dictionary.

The world had dictionaries, but the English wanted a new one, as language was constantly
changing and developing. With just six helpers, Johnson read several prominent books and then
compiled and defined more than 40,000 words that he found in those books.

One of Johnson’s unique accomplishments was that he defined all of the differing meanings of
single words. His dictionary proved to be a model for all English dictionaries that followed. Some of
his definitions contained witty humor as well, and people actually enjoyed reading the dictionary!
He also included quotes. His astonishing accomplishment took only nine years to complete. Samuel
Johnson published the Dictionary of the English Language in 1755. As a result, Oxford University
awarded Johnson an honorary master’s degree.

97- Samuel’s attempt to found a school of his own ended in failure because ... .
1) he first had to finish his education at college
2) not many students were willing to attend his school
3) starting a private school required a lot of money
4) he lacked the university degree necessary to start a school
98- The underlined word “constantly” in the third paragraph is closest in meaning to ... .

1) frequently 2) rarely 3) effectively 4) immediately

99- All of the following are mentioned as factors of uniqueness in Johnson’s dictionary EXCEPT ... .
1) quotes 2) witty humor
3) synonyms and antonyms 4) different meanings for single words

100- The passage provides enough information to answer which of the following questions?
1) Where was Samuel Johnson born and brought up?
2) How many people worked to compile the Dictionary of the English Language?
3) Why did Samuel Johnson’s family lose nearly all of their money and fall into poverty?
4) What are some of the books Johnson used to decide which words to include in his dictionary?
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[PART A: Grammar and Vocabulary ]

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet.

g

61- Spring is like a never-ending autumn to everyone far away from their beloveds: you may ... a smile on your

face; however, at heart, you are ready to burst into tears for these sad moments.
1) to put 2) putting 3) puts 4) put
62- John was feeling terribly tired last night, so he, in the hope of a refreshing sleep, went to bed ... usual.

1) as early as 2) earlier than 3) more early than 4) the earliest of
PART B: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage (1)

Holidays are special days for the people of one nation or culture, which are set aside by the law or through
a custom, and on which everyday activities, such as work or school, are normally suspended. Every country
has several important holidays, which can be national (important for the state), religious (important for a
particular religious group), or simply cultural (such as celebrating the beginning of a season, for example).
Many holidays are celebrated in the winter, which is why this period is also known as “the holiday season”.

Mexican people traditionally celebrate Christmas for twelve days— from Christmas evening on December
24th, to the Three Kings Day on January 6th (also called the Epiphany; Epiphany literally means a sudden
moment of understanding.)

The Three Kings Day commemorates the end of these celebrations. This holiday was inspired by the
biblical story of the three kings from the East (also referred to as Three Wise Men or Magi), who spotted a
bright star in the sky the night Jesus was born, and came to see baby Jesus .

This holiday is so important for Mexicans that they often give additional gifts to their beloved ones on this
day, even though it is shortly after Christmas. Another custom specific for this holiday is baking the Rosca, a
sweet bread ring in which a small baby Jesus figurine is placed. Whoever finds the figurine has to host
another holiday’s party in February.
63- The best title for this passage can be ... .
1) A Moment of Understanding 2) Three Kings Day
3) Mexican Holidays 4) Celebrating the Holiday Season
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64-

65-

According to the text, which of the following statements is TRUE?

1) The Three Kings Day is one of the holidays which is held in May.

2) The Epiphany or little Christmas falls on a different date each year.

3) The Epiphany was inspired by the story of Three Wise Men.

4) The person who finds the Jesus figurine has to be provide entertainment for the rest of the year.
According to the above passage, all descriptions about Rosca is true EXCEPT that ... .
1) it is a bread in which a small figure is put

2) it is a kind of sweet baked in the form of a ring

3) it is a specific custom for a national day in Mexico on December

4) it indicates which person should hold another party

The passage speaks about all of the followings EXCEPT that ... .

1) The Mexicans’ celebration which ends on January 6th is called the Epiphany

2) Epiphany is a Christian festival held in the memory of the Magi

3) Magi refers to Three Wise Men who came to see baby Jesus

4) Three Kings Day is held shortly before the Christmas

Passage (2)

67-

68-

69-

70-

There are some ways to help and respect the elderly. You may find the following useful passage in dealing
with the elderly people in your family. Offer to provide support. Elders often need some kind of help with day
to day tasks. They may need help reading their emails, or they may need constant care because of their health
problems. Let them know you are interested in helping them. Don’t guess about what the person needs or
wants. If you do, the person may feel that you think they are disabled or you don’t respect them. You can say
something like, “Grandmother, | know you may not need my help, but if you’d like some help around the
house, 1’d love to do that for you.”

Take on the responsibilities you can. You might not be able to provide all the care that the person needs.
For example, if someone needs nursing around the clock, and you are not available all the time. However, you
can hire a nurse by paying to satisfy their needs. The problem is that in some cultures, it is considered
disrespectful or a failure to hire someone outside the family to care for an elder.

Don’t ignore or forget yourself. Taking care of an elder may create some change in your life, but it should
not cause you to lose your job or give up your musts.

Help them stay healthy. Elders may have a hard time staying active and eating healthy meals. They may
have trouble moving around. Shopping and cooking may be difficult for them. Visit the person regularly and
go for a walk with them. Even a short walk provides fresh air and movement. Bring them food when you
come for a visit. In this way, they won’t need to spend a lot of energy to get a nutritious meal. If you can’t
bring them food, look into programs such as Meals on Wheels which can deliver food to the elderly.

Which one is TRUE according to the passage?

1) We should offer help to the elderly if they need. 2) We should guess about the elderly’s needs.
3) We should help the elderly without asking them. 4) The elderly should listen to what we say.
The underlined word “constant” in the passage is closest in meaning to ... .

1) excellent 2) important 3) practical 4) continuous
Regarding our responsibilities towards the elderly, we ... .

1) can hire a nurse to take care of them 2) should ask them to forgive us

3) should be at their service at any event 4) can give up our jobs to meet their needs

All of the following sentences are true about the passage EXCEPT ... .

1) The elderly can use delivery meal if necessary

2) The elderly should spend a lot of time preparing their food

3) Walking with the elderly and bringing them food are advised by the author

4) Taking care of the elderly outside the house is not appreciated in some cultures
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71- Needless to say, it will be much more helpful, and of course quite pleasing, ... English Literature if you ...

your PhD in one of the world’s top universities.

1) to study /start 2) studying / will start
3) to study / started 4) studied / start
72- We are pleased to inform you that all textbooks for university students are available at a/an ... . Moreover,

you are allowed to pay for your intended shopping list online.
1) discount 2) charity 3) attempt 4) income

73- Her name, to your eye, is a little word ... of a few letters on the page, but, to me, it means love, hope and a
human being second to perfection.
1) made up 2) called back 3) grew up 4) gotten back

74- One of the most ... asked questions is why the new means of communications such as Facebook, Twitter and
Telegram must be blocked in their country.
1) generously 2) fortunately 3) commonly 4) patiently

75- As you find out in your practical life, children raised in a house with a ... atmosphere will certainly enjoy a
very reliable personality and self -confidence.

1) diverse 2) cheerful 3) unsafe 4) medical

PART D: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on
your answer sheet.

Iranian’s ceremony for the new year is called “Norooz”. It starts on the first day of Farvardin and goes on
for thirteen days. People take part in this ceremony ...(76)... visiting their relatives. Iranian people ...(77)...
go to work during these days because they think it is a time for them to relax and relax only. As a result of
that, most people gain ...(78)... weight during Norooz, and they don’t follow a healthy diet. Norooz ceremony
...(79)... present in Persian culture for thousands of years, and people wait a whole year to see it coming. As

an interesting hobby for Norooz, some people take their children to the zoo so that they can ...(80)... zoo

animals.
76- 1) in order to 2) no matter 3) in a way that 4) by means of
77- 1) mostly 2) nearly 3) rarely 4) luckily
78- 1) a few 2) alot 3) few 4) lots of
79- 1) was 2) has to be 3) had been 4) has been

80- 1) experience 2) quit 3) feed 4) excite
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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your
answer sheet.

61- Mr. Ahmadi asked his students what makes the human body less able to protect ... against diseases
like influenza.
1) itself 2) themselves 3) himself 4) ourselves
62- It is much ... to learn a language in a country where it is not spoken.
1) more difficult 2) difficult than 3) most difficult 4) very difficult
63- Celsius invented his scale ... observations to determine the shape of the Earth.
1) since he has made 2) while he was making  3) when he is 4) was making his
64- The company is still facing the same situation and the information | have got will help us solve this
problem. Now, I believe that everybody ... listen to me very ... .
1) must / careful 2) should / carefully 3) can / with care 4) may / carefully
65- There was a/an ... on the board saying that the class had been cancelled. That’s why the students
were very happy.
1) notice 2) sign 3) state 4) action
66- If humans do not take immediate action to ... their environment, they will have to find other new
places to live.
1) defend 2) increase 3) protect 4) donate
67- The tallest building which was located in the downtown was destroyed by the fire and most ... is

going to be replaced by a huge new shopping center.

1) suitably 2) probably 3) generously 4) easily
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct

choice on your answer sheet.

Can you taste sounds or see symphonies of color whenever you hear a song? If your answer to these is
"yes", you may have a/an ...(68)... condition known as synesthesia. People with synesthesia experience
a unique mixing of two senses. Although there are some ...(69)... types of synesthesia, the most
common form ...(70)... place when someone always sees a certain color in response to a certain letter
of the alphabet or a certain number. For example, a person with synesthesia might see the word
“plain” as green or the number “4” as brown. There are also other types of synesthesia which involve
hearing sounds in response to smell, smelling something in response to touch, or feeling something in
response to sight. In the future, some researchers ...(71)..., studying the mechanisms of synesthesia
..(72)... provide very valuable information for brain science research. This can also allow us to better
understand how our brains guide us and help us deal with our world more easily.

68- 1) boring 2) endangered 3) ashamed 4) wonderful
69- 1) average 2) different 3) worried 4) daily

70- 1) to take 2) taking 3) take 4) takes

71- 1) break 2) destroy 3) believe 4) invent
72- 1) are going to 2) is going to 3) will going to 4) will be

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on

your answer sheet.

Passage 1

Most animals use more than one species as food. Therefore, the term “food web” is a better
description of the food relationship than the term *“food chain.” A *“food web” is a complex feeding
system that contains several food chains. For example, mice, rabbits, and deer eat plants, owls eat
meat and rabbits, and mountain lions eat rabbits and deer. These five species are parts of food chains
that together form a food web.

The first link in a food chain is always a green plant. Only organisms with chlorophyll, such as
green plants, can make food. For example, the first link in the aquatic chains is algae. Most algae are
microscopic green plants that produce food by photosynthesis, a process in which energy from
sunlight converts carbon dioxide and water to sugar. Tiny fish in lakes, streams, and oceans eat algae.
In turn, they are eaten by larger fish. These larger fish are eaten by still larger fish. Algae make the
food supply for fish. This food is then passed through the food chains as one animal eats another.

Organisms may be divided into three groups based on how they obtain food. These groups are
producers, decomposers, and consumers. Organisms containing chlorophyll are producers. Thus,
green plants are producers. Animals that eat other animals and plants are consumers. Microbes, one-
celled organisms that cause the decay of the dead animals and plants, are decomposers. Since
decomposers cannot make their food, they are also consumers.

73- What is the main purpose of this passage?
1) To determine which food chain is the most effective
2) To describe the food network among plants and animals
3) To explain the process of photosynthesis in green plants
4) To protect endangered plant species
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74- According to the author, what is a “food web”?
1) A complicated system of several food chains
2) A society that makes food
3) The relationship of one green plant to another
4) Organisms that make their food
75- The author divides the organisms according to ... .
1) how they use energy
2) how they get food
3) how much energy they need to move
4) whether they live on the land or in the sea
76- According to the passage, which statement is NOT true?
1) Producers are organisms that contain chlorophyll.
2) Decomposers, such as microbes, are also producers.
3) The process of photosynthesis happens in organisms with chlorophyll.
4) Algae are the first links in the aquatic chains.
Passage 2

There are several ways to create a photograph. The most common photographs are made by using
a camera. In many ways, a camera works like the human eye. Like the eye, the camera takes in rays of
light reflected from a subject. It then focuses the rays into an image. Older cameras record the image
on inserted film. Newer digital cameras record the image on an electronic storage device such as a
memory card. Once the image is captured, it can be seen and enjoyed by many people.

When using a camera, the photographic process requires care and patience. Creating great
printed photographs by using older cameras requires five steps: (1) finding a subject, (2) focusing
on the subject, (3) exposing the film, (4) developing the film, and (5) producing the photograph.
Many professional photographers do all five steps themselves. They use a room called a darkroom.
It’s “dark’ so that light doesn’t ruin the negatives.

Photography makes our lives richer in many ways. Through photographs we can learn about
other parts of the world and see how people live. We can also imagine what life was like in other
time periods since the mid-1800s, when the camera was invented. Special cameras can capture
images in places most human beings can’t go, like distant planets or deep oceans. But, best of all,
photographs remind us of the special people and special times in our lives. Millions of people use
cameras to take pictures of their family, friends, and special celebrations. For them, the
photographs they take are priceless.

77- According to the passage, the most common photographs are made by using what?
1) A phone app 2) Papers exposed to light ~ 3) A camera 4) Graphs and charts
78- What does the passage list?
1) The five steps for creating digital photographs using a newer camera
2) The five steps for creating printed photographs using an older camera
3) The five steps for creating digital photographs using an older camera
4) Famous photographers and the work they have done
79- How are newer cameras different from older cameras?
1) Creating photographs using newer cameras takes care and patience. Using older cameras does not.
2) Newer cameras work like the human eye. Older cameras do not work like the human eye.
3) Newer cameras record images on an electronic storage device. Older cameras record images on
inserted film.
4) Newer cameras take in rays of light reflected from a subject. Older cameras release rays of light
reflected from a subject.
80- What is the passage mainly about?
1) The importance of photography in our society
2) Different types of cameras used to make photographs
3) How photographs are made without the use of cameras
4) How to make photographs and the role they play in our lives
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PART A: Grammar and Vocabulary

irections: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark

he answer on your answer sheet.

61- Sometimes, it is hard for us to think of ... as adults when we are still young, and live with
our parents.

1) themselves 2) itself 3) ourselves 4) yourselves

62- He hasn’t seen his old friends since he ... here last week. He hopes to see them as soon as possible.
1) come 2) came 3) comes 4) has come

63- The country’s national car industry is so strongly protected that foreign cars are ... seen there.
1) absolutely 2) interestingly 3) especially 4) rarely

64- I’d like to give you this gift card as a mark of ... for all the work you’ve done for us.
1) communication 2) information 3) appreciation 4) variation

65- Because electronic mails and other documents can be ... more rapidly than paper documents, most
people are interested in using them for their daily activities.
1) explained 2) accessed 3) measured 4) described

66- The way she looked after her little sister was really... ; she wholeheartedly loved her sister.
1) touching 2) fluent 3) depressing 4) harmful

67- If Kate didn’t hurry up, she would certainly ... the school bus. As far as I know, there is no good
means of transportation in their neighborhood.

1) catch 2) get to 3) lose 4) miss
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

The ability of tiny computing devices to control complex operations has changed the way many
tasks are performed, ranging from ...(68)... research to producing consumer products. Tiny
“computers on a chip” are used in medical equipment, home appliances, cars and toys. Today,
computers are no longer a luxury but a ...(69)... in the business world. ...(70)... we go, we find
some forms of computer, and behind each computer we find what is known in the computer
world as a user. In ...(71)... the world of users, what becomes clear is that no two users are

«..(72)... in troubleshooting a computer problem.

68- 1) attractive 2) dangerous 3) scientific 4) exciting
69- 1) necessity 2) event 3) hobby 4) mistake
70- 1) Actually 2) Everywhere 3) After a while 4) Soon
71- 1) observed 2) to observe 3) observing 4) observes
72- 1) surprised 2)possible 3) famous 4) similar

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct

choice on your answer sheet.

Passage 1

There are several reasons why women have a harder time losing weight than men. Some of these
reasons are purely physical. A 275-pound person walking at two miles per hour burns 6.4 calories per
minute, while a 150-pound person walking at the same speed burns only 3.5 calories per minute.
Thus, men, being generally heavier, to begin with, can lose weight faster through exercise than
women can. What’s more, even if they were the same weight, a man would still burn more calories
than a woman doing the same amount of exercise. Why? Because a man’s body has a higher ratio of
muscle to fat than a woman’s, and it takes more energy to push muscle around than fat. This may
sound unlikely, but take my word for it! The more energy you use, the more calories you burn. So, a
dieting exercising man sees results a lot sooner than a woman, considers his weight-reduction
program more successful, and is more likely to stick with it. Men are also more likely to add extra
exercise to a weight-loss program. Most weight-conscious men can be found working off those extra
pounds in gyms and swimming pools, while women are likely to head for a more passive program in a

diet clinic or at home.
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73-The best title for this passage would be ... .

1) Reasons for Losing Weight 2) Calories and Weight
3) Exercise for Faster Weight Loss 4) Losing Weight
74- According to the techniques of paragraph writing, the function of this paragraph s ... .
1) objection 2) showing by examples  3) comparing 4) emphasizing

75- According to the passage, a 188-pound person walking at two miles per hour would burn ...
calories per minute than a 150-pound person doing the exact thing.
1) less 2) the same 3) half of 4) more
76-Which of the following can be concluded from the passage?
1) A man and a woman of the same weight would lose the same amount of weight through exercise.
2) It takes more effort to move fat compared with muscles.
3) The more energy you use, the more weight you lose.
4) A heavier person can lose weight slower than a lighter person.

Passage 2
When asked about the people who taught us the most, who were there for us through hardships, who
laughed with us during the good times, who put up with us on our off days, most of us think
immediately of our parents. It is true: our parents are the ones who have been with us through almost
everything in our lives. Our mothers carry us for nine tiring months before we are born, and for at
least eighteen years afterward, our parents, to list a few things, take care of us, teach us, help us, and
provide for us financially and academically. Without them, most of us would not be in the places we
are today.
Unfortunately, however, many people do not treat their parents in the manner they deserve.
Teenagers fight relentlessly with their parents, often over extremely trivial topics. Other young people
ignore their parents. They instead prefer to spend time with their friends or online. As we get older,
we tend to forget that our parents are growing older as well, and they are pushed aside to living on
their own or in nursing homes while we start our own families. Not only is this disregard unfair to our
parents, but it is also strictly forbidden in Islam. Respecting parents is one of the most significant
aspects of Islam. God has commanded us to treat our parents with respect, no matter what situation
we are in.
77-The author refers to “It is true” in paragraph 1 in order to ... .
1) introduce a new topic
2) mention an exception
3) change an earlier statement
4) further support the main point of the same paragraph
78- According to the passage, our parents support us for ... .
1) less than 18 years 2) exactly 18 years 3) about 9 months 4) at least 18 years
79- Which of the following could best replace the word “trivial” in paragraph 2?
1) unimportant 2) terrible 3) friendly 4) international
80- The passage is most likely to continue with ... .
1) reasons why father and mother are respectable in modern society
2) an example of the Quran about the importance of parents in Islam
3) a description of what young people will look like in the future
4) encouraging young people to earn more money
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ART A: Grammar and Vocabulary

sheet.

P
[Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer

61- In some language institutes, learners are expected ... Farsi in classrooms. [ Y o) (oSt 43 [

1) don’t speak 2) not speaking 3) to not speak 4) not to speak
62- A: I don’t know where I have lost my driving licence.

B: Don’t worry. I’m sure you ... it soon.

1) will find 2) are going to find 3) should find 4) have found
63- The number of people at the meeting ... last week.

1) are larger than 2) is larger than

3) are larger than that of 4) is larger than that of

64- It’s the teacher’s duty to train the students in a way that they can be able to ... their views and
interests.
1) defend 2) contrast 3) surf 4) donate
65- Policy makers in education should design programs that ... students’ sense of responsibility.
1) collect 2) invent 3) locate 4) develop
66- A new research shows that group work helps children learn to share things and ... to each other.
1) express 2) relate 3) notice 4) behave
67-If you have a balanced diet, you are getting all vitamins you need. The underlined word in this
sentence means ... .
1) suitable for your body
2) containing the right foods in the right amounts
3) having the natural substances your body needs

4) having a very little healthy food
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

The ability of tiny computing devices to control complex operations has changed the way many
tasks are performed, ranging from ...(68)... research to producing consumer products. Tiny
“computers on a chip” are used in medical equipment, home appliances, cars and toys. Today,
computers are no longer a luxury but a ...(69)... in the business world. ...(70)... we go, we find
some forms of computer, and behind each computer we find what is known in the computer
world as a user. In ...(71)... the world of users, what becomes clear is that no two users are

...(72)... in troubleshooting a computer problem.

68- 1) attractive 2) dangerous 3) scientific 4) exciting
69- 1) necessity 2) event 3) hobby 4) mistake
70- 1) Actually 2) Everywhere 3) After a while 4) Soon
71- 1) observed 2) to observe 3) observing 4) observes
72- 1) surprised 2 ) possible 3) famous 4) similar

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct

choice on your answer sheet.

Passage 1

There are several reasons why women have a harder time losing weight than men. Some of
these reasons are purely physical. A 275-pound person walking at two miles per hour burns 6.4
calories per minute, while a 150-pound person walking at the same speed burns only 3.5 calories
per minute. Thus, men, being generally heavier, to begin with, can lose weight faster through
exercise than women can. What’s more, even if they were the same weight, a man would still burn
more calories than a woman doing the same amount of exercise. Why? Because a man’s body has
a higher ratio of muscle to fat than a woman’s, and it takes more energy to push muscle around
than fat. This may sound unlikely, but take my word for it! The more energy you use, the more
calories you burn. So, a dieting exercising man sees results a lot sooner than a woman, considers
his weight-reduction program more successful, and is more likely to stick with it. Men are also
more likely to add extra exercise to a weight-loss program. Most weight-conscious men can be
found working off those extra pounds in gyms and swimming pools, while women are likely to

head for a more passive program in a diet clinic or at home.
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73-The best title for this passage would be ... .

1) Reasons for Losing Weight 2) Calories and Weight

3) Exercise for Faster Weight Loss 4) Losing Weight
74- According to the techniques of paragraph writing, the function of this paragraphis ... .

1) objection 2) showing by examples  3) comparing 4) emphasizing
75- According to the passage, a 188-pound person walking at two miles per hour would burn ...

calories per minute than a 150-pound person doing the exact thing.

1) less 2) the same 3) half of 4) more
76-Which of the following can be concluded from the passage?

1) A man and a woman of the same weight would lose the same amount of weight through exercise.

2) It takes more effort to move fat compared with muscles

3) The more energy you use, the more weight you lose.

4) A heavier person can lose weight slower than a lighter person.

Passage 2
When asked about the people who taught us the most, who were there for us through
hardships, who laughed with us during the good times, who put up with us on our off days, most
of us think immediately of our parents. It is true: our parents are the ones who have been with us
through almost everything in our lives. Our mothers carry us for nine tiring months before we
are born, and for at least eighteen years afterward, our parents, to list a few things, take care of
us, teach us, help us, and provide for us financially and academically. Without them, most of us
would not be in the places we are today.
Unfortunately, however, many people do not treat their parents in the manner they deserve.
Teenagers fight relentlessly with their parents, often over extremely trivial topics. Other young
people ignore their parents. They instead prefer to spend time with their friends or online. As we
get older, we tend to forget that our parents are growing older as well, and they are pushed aside
to living on their own or in nursing homes while we start our own families. Not only is this
disregard unfair to our parents, but it is also strictly forbidden in Islam. Respecting parents is one
of the most significant aspects of Islam. God has commanded us to treat our parents with respect,
no matter the situation we are in.
77-The author refers to “It is true” in paragraph 1 in order to ... .

1) introduce a new topic

2) mention an exception

3) change an earlier statement

4) further support the main point of the same paragraph
78- According to the passage, our parents support us for ... .

1) less than 18 years 2) exactly 18 years 3) about 9 months 4) at least 18 years
79- Which of the following could best replace the word “trivial” in paragraph 2?

1) unimportant 2) terrible 3) friendly 4) international
80- The passage is most likely to continue with ... .

1) reasons why father and mother are respectable in modern society

2) an example of the Quran about the importance of parents in Islam

3) a description of what young people will look like in the future

4) encouraging young people to earn more money
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